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Tine-: 2 Hours

Instructions :

(1) Each qustion carries one mark.
DS D450 2.8 Sty

(i)

Choose the correct or most appropriate answer from the given options to the following questions
and darken, with blue/black ball point pen, the comesponding digit 1, 2, 3 or 4 in the circle
pertaining to the question number concemed in the OMR Answer sheet, separately supplied to

Marks : 200

you.
OHS BDYS N8 DN AI5AS 78S" IS ASrFISDSD D) ER AR

JrDoT ©0E 1, 2,3 BE 4 3% 2D S OMR 35S HSSnS' 1H¥) sopik aebm

e Ho20He DEJE /Tt ord ronodd 1) @HErR0D NoHIBL.

Match the following positions with the persons now holding them (as in March 2019) :

Institution & Designation - Person’s Name
a.  Chief Election Commissioner i, Ranjan Gogoi
b. Chief Justice of India (CJ1) ii.  Rishi Kumar Shukla
¢.  Director, CBI i, K.V.Chowdary
d.  Central Vigilance Commissioner iv Deepak Misra
Sunil Arora
808 0TS HByoD 38 ammm& ;5;5_9& R0S 2S8HGS508 (Sr0) 2019
e38):
Hod Hddcin Inree S48 D&
a DS d o eodsd ol Sozs AdD
b, 2rdé 1D argabaard (CID . oD Hoderl HE
c. D BOEs i, B.380
d.  Sold DABST) LR | i\u HHE o
S oo

Choose the correct answer : / JOTRIN BSTTaR) Jn‘bé Johod
a b ¢ d

(M i v i v

@ i i v . 4
3 v iv il if

4) v i ii O/

Read the pairs.aboutthe Kalamsat-V2 :

a.  Kalamsat-V?2 satellite : World’s lightest satellite

b.  Weight of the satellite : 2.6 kg

¢. . The satellite was built by : Students of Space Kids India

Cheose the correct pairs :

(1) . b and c only (2) aandconly

B abandc (4) aandbonly
Lerord - 22° o J0206H00 8od Bédercd BS508

2. EZeroRrd - D2 AHETO | |HDOB0 Ty @8 BIIS ad|iro
b, D) 2869 : 2.6 8.

c. AR Srrofodd R §8) 20808 Doriden.
DB 20D JoDE Tahod

(1) bSO ¢ Sred (2) anodivcAr|esd
(3) absoddinc (4) andcin b aredsh

SSI-GS1




The National Bench of the Goods and Services Tax Appellate Tribunal (GSTAT), which was
created by the Union Cabinet, is a ;

a.  Forum of first appeal in GST laws.

b.  Common forum of dispute resolution between the centre and states,

Choose the correct answer :
«{ Both a and b are correct (2) Both a and b are not cormrect

(3) Only a is correct (4) Only b is comrect

S0l DTS Té oyt FAHDAD SN IO D) DT (8205565 Ty
adh BoS eoIo

a3 DI HH) dwodsed’ Inde ohyw §Fo (FaY)

b. Fold OO s D DBETRTO & SOHE

OGS HArrrErR) SonE Scbod

(1) acnddinb ol HOQDSD

(2) a-000hblodr A0 Sa

(3) adMAD HOTPAS K

(4)  bSrSD HOTAS ’

The 13" Conference of Parties (COP) of the Cofivention on the conservation of migratory species
(CMS) of wild animals is scheduled to be hésted in February 2020 in:

(1} Bengaluru, Kamataka (2} Amaravati, Andhra Pradesh

(@ Hyderabad, Telangana (4) Gandhinagar, Gujarat

o) 20050 IO e HOSEND DSO 2020 & 2EHSODHLDAES 13 S
‘592885 8D e’ (COP) BSr340/5T 558 &8 2&%H 08 ?

(1) Bolerd, STEE (2) T RB, Bo|HHTT

3) PooordlE8omron (4) m™odSES, Hhaoc s

Under which section of the Income Tax ;'u:t, linking of PAN with Aadhar is mandatory for filing
of Income Tax returns 7

(W Section 115A (2) Section 139AA

(3)  Section 14A (4) Section B0AA

Borahy D) BE5) (retums) o orpen TS webS arén S (PAN) & Hof
Do eorcbdy Had) &0 D Dariio 80 SO INHO ?

(1) DESII5A (2) DES139AA

(3) ToES 14A 4 NE® 80AA

SSI-GS1



Lokpal search committee, which was constituted by the government of India in September, 2018
is headed by :

(1) Sakha Ram Singh Yadav 2) A. Surya Prakash
(3)  Arundhati Bhatm:haoﬂn (4) Ranjana Prakash Desai

203025 2018 &° 2768 15208 0T Do 1ew FHDAS SEPS 553 Lol & mﬁsm
D358 ?

(1) g o) NOFN Ardies (2) A Qrds |osf
(3) o%Hoda irod; @) oz |1HsF Frow

Who among the following members quit the National Statistical Commissien, (NSC) in January
2019 7

a.  Amitabh Kant ' b. JLV.Meenakshi
¢.  P.C. Mohanan d.  Pravin Sriviistava
The correct answer is : '
(1) bonly (2) _aandconly

- (3 bandconly (#) ‘sanddonly -

2558 2019 & 808 2racd HemoX (EMNS (NSC) Hhiod 5% e EaS wod
el a0 ?

a. oS sod b. JV.oa4

c. P.C.IPIIS d. DB ITVS
OGS B2

() baréadh (2) aobcin ¢ Srehad

(3) bBdine S (4) adbcy d S

Indthe 2019 Intemational Intellectual Property Index released by the US Chambers of Commerce,
aut of 50 countries, India was ranked at

US groal) e =0b) ard ddde TS 2019 wosPach HE H058 Hrdés 50
Bred iréS840 oo Jos ?

(1) 443 & 36

(3) 50 @) 44

SSI-GS1




10.

Arrange the following four major grand slam tennis tournaments in the chronological order as per
the tennis calendar :

a. The Wimbledon Tennis Tourmnament
b. The United States Open Tennis Tournament

¢. The Roland Garros Tennis Tournament
d. The Australian Open Tennis Tournament

808 et 1DFS rod TS BN &%) Dobd BRLD iB0ds (5580 SEH
EosS' @808 :

a. DoWLS VAR SWIDods

b, CHTLE HE)LDS LAYH S5 0

¢. ool rEfd BAYR &6 0

d. 8RODHS LS BIYH Sy ol

Choose the correct sequence order : / O 1535 JonE T
(1) e¢dab (2 d,c,ab

37 d,b,c,a (4) b,ac,d

Which of the following ICC cricket awards (for men) Were received by Virat Kohli for the year
20187

~a. T20I performance of the year, 2018

b.  ICC ODI player of the year, 2018

¢.  1CC Men’s Test player of thieyiesr, 2018

d.  Sir Garfield Sobers Trophy'for ICC cricketer of the year, 2018
Choose the correct answer:

(1) aanddonly (2) ab,candd

#©)7 a bandconly (4) b,canddonly

2018 J0SSHoWEMTD wosTaaD 1886 FHS (ICC) &6 (Hhive) L.ms oxf)s'
DS §rSiod 3G DEH Hdsen |Hodo FabaFay ?

2. S0STA0D T20 &' 2018 HOSS)ESY o e |HSSS

b.4 ICC 2018 HoSe& 5y ODI RaHB

er ) ICC 2018 Hod&8H)5D HBHHe B AHLG

d. 2018 505855 86 rEH S a:raa-ﬁ,:, ICC |$8&5 |15

DOTA DIPFTTR). JODE TAHoh

() aHbcihndAmad (2) ab,cSdaind

(3) a bDdALcSMSD (4) b, c 0B d Sressh

SSI-GS1
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Read the following statémerits :

a.  National aquatic animal of Thailand is Siamese fighting fish, as per the decision taken by
the Thailand government in February 2019,

b.  Official national animal of Thailand is Tiger.

Choose the commect answer :

(1)  Only a is correct (2) Onlyb is correct

Y Both a and b are comrect (4) Both a and b are not comrect
1808 Fipierch S0

2. Towerod (D700 DS 2019 &' S0508) APAHO D50 Fronerod. Singy,
FO0DH O 3060y DADAD HD TS, (war fish)

b, Groverod Bnk ©ATOE 2rAH 20809 3O,

HOT HATTE R JodE Fahod :

(1) adMaD HOTPId. (2) b SMED HOTWSE:

(3) adoBckn b Bodr HOBXD. (4) a0k b BOHT HOTLSD 5.

T2} Match the following years with the names of the countrie in whmh the G20 summits are held or
to be held : '
List-1 (Summit Year) List-11 (Host Country)
a. 2019 i. India
b. 2020 ii. Japan
c. 2018 iii. SaudipArabia
d. 2022 iv. _Argentina
# (G) 20 HS:)en BETD 38 BAG; Brod 0 2008 H038 008 28HES00 :
Do (DS arDer-ll (0d Y3 Téo)
o o)

a. 2019 i rostdo
b. 2020 ii. 2w
c. 2048 iii. 2o odddir
d. @022 iv. eJosz
The correct answer is : / TS Do

a b ¢ d
(M v i i i
2y @ v i i
(3) i i i v
@ i i v i

C SSI-GS1




13.

14.

Read the following statements about the ‘Seoul Peace Prize’ :
a.  The 2019 Seoul Peace Prize was awarded to Narendra Modj, the Prime Minister of India.
b.  The Prime Minister was awarded the prize money of $ 2,00,000.

Choose the correct answer :

M Only a is correct (2) Onlyb is correct

(3) Both a and b are correct (4) Bothaand bmml_mrm:t

‘DArS o8 2TVHA’ (HD D) & Ho20HOD 180D TIWYE)ID SES0A

a. 2019 DTS 708 2T0HA o 1HTEH0|S STolS FrdE 1Dordo Bar.

b. 08 |Drddol8s v Sod Bod ofe grad ($ 2,00,000) (S
INTritoord.

QO DAFTFR) DowE Tabod

(D) a &Ml SOTSA. (2) baArEd SOQUSD.

(3) an0aiu b Bodr SO, (4) an0cll bBoAr SO 5.

Read the following statements regarding the ‘Interflational Day of Women and Girls in Science’ :

- 8 This day is celebrated every year on 1 1®February.

b.  This day was declared by the UNDP.

c¢.  The 2019 theme of the day foeusses on ‘Education in Science and Technology to Women
and Girls’.

Choose the correct statement/s -

(1) conly W% aandb only
(3) aonly (4) bandconly

D w008 Silreen, erdio WOSTHAD OSE )TV H020H0D 806 T RLED

TN Yol T
8. & O5E)0) 198 503850 D258 11 vk 38DE008rE.
% UNDP (Cin.8.8.0) & & 820 D880,

€ 2019 JoSS)8Y b m ‘Slrden, wrdiod T, FroidE HOFI0S DS D &
OSE )50 B8 LS.

DOTS 55NN JoDE Tabod :
(1) ¢ Sresh (2) add b Sredsh
(3) adresh (4) bbb cSTed

SSI-GS1




i A
‘t3. Read the following pairs segarding the inauguration of the ‘Africa Center for Climate of
Sustainable Development’ :

a.  Establishment of the center : Quebec city, Canada
b.  Partner of the centre : UN Environment Programme (UNEP)
c.  Director General of FAO : Jose Graziano da Silva

Choose the correct pair/s :

(1) bandconly (2) conly (3) aonly (4) aandbonly
PO BHIYQ TEIGR0 TS 6ldHs To|d0’ (rSod'E 18 Ho20800 Lod
2SO DAH0H

8 OO So|SH Soryew | S8 S0, B
b. @5 So|B%y i  A50.0S. AT S0 (Fro (UNER)
¢. @I, Si53rah HoP (FAO) TnE); BOED a8SS : &% Imecirs’ ¢ Doy

QAOToS 28(©) D J0DE TaHod
(1)  boBW ¢ SrMSH (2) cSmesl
(3) adr&Sd (4) 2By b SrissH

1. As pant of the preparations to celebrate (its centenary in 2019, the Intemmational Labour
Organisation (ILO) launched which of thé following “centenary initiatives™ ?

a. The end of unemployment initiastive ), b.  The end of poverty initiative
¢. The women literacy initiative d. The women at work initiative
¢. The future of work initiative

Choose the correct initiatives :
(1) aandconly (2) band e only
(3) a,candd only (4) b, dand e only

wodT A 588 J0d (ILO), 2019 &S S5 #8 FOFS 1S SamSFes arfor 8o
RO ITSgESreD H8 Y SESen’ r Fndos 2

afly, DOEH dEroT S8 b. DEOE DEMear SBS

e Slrer oiodier SUS d.  Sofreen HATcm |HToS $ES
e D) TwE) BN TGS

HBTS SBS0% JobE Fohod :

(1)  aS0acm ¢ Sredad (2) b8t e S

(3) a,cH0cin d SmSH (4) b, d B e SrSsTH

C SS1-GS1




19,

As per the World Steel Organisation, the global crude steel in 2017 was around 1,730 million
tonnes. Arrange the following countries in the descending ordér on the basis of crude steel
production in 2017.

a. United States b. Japan
c. India d. China

DHoS adoy () HoP 1Hsdo, 2017 & HHotd s afyy ooy 1,730 OABS
£330 A0A06. 2017 HOSS B Jnd a5}, &d)8 erdor 2od Brod esdder
ESos e jod

. oD Hodns oaren b. 23
¢. o8B0 4 B

Choose the comect order : HOTDLA |F5TR) SonE TAHOS :

(1) ab.ecd %y d,b,c,a

@ acobd @ dc,ba

According to the WHO, ten threats to global héalth in 2019 include :
a. Ebolaand other high threat pathogens b., Air pollution and climate change

¢. Global influenza pandemic d. Noise pollution
Choose the correct answer :

(1) banddonly @) aandeconly

(3) 2 bandconly <] b,canddonly

S50 el H0d 5ed0 2019 & 1H308 e8mds fo 8 (10) erdrod fod
TS 50?7

a. Q8% OGN RES 608 (DIrS56 goen
b, O oo Sendf0 0G5 BRSO S0
) DADAH0 S088 DHOLS SXFSr0 Tyoed

d. 4P seniygo

HOTS DATTER) JODE Tabod : .

() bXdcind SMeD (2) aHoainy ¢SS
~(3)  a,bodcinc SM&ED (@) b, e DOk d SM&ED

SSI-GS1




M9  Match the following :
List -1 : List - 11
a.  First Woman Flight Engineer of [AF i. Gita Gopinath
b.  First Woman IPS and Indo Tibetan Border Police ii.  G.C. Anupama
Officer to successfully reach the South Pole

C. First Female Chief Economist of IMF ii.  Hina Jaiswal
iv.  Apama Kumar
808 T80 BaHG50S ;
- dor -1 Do 11
a. ros JIrdE &€ (IAF) 3o dawd i B dhes
@ozd

b. &8 $HoR) Vadbdodor TOS kS i G.C. &R
Soorer IPS O mod8 BBLS U5 FOH

wH5H
c. GOSTAD &S5 O (IMF) ey Sofrer i, Az sS
S e T3S
iv ) oG a5
Choose the correct answer : / DOTS Nﬁrfﬁﬂ‘ﬂ; NODE TORED :
a b c
(1 i i v
(2) W v il
(3) iv i i
(4) i v i
. 204 Match the following books with their authors® names :
Books Authors
a.  Timeless Laxman i Ramchandra Guha
b.  We are Displaced iil. V.V.S. Laxman
c. Law, Justice and Judicial \Power : iii. Mool Chand Sharma
Justice PN Bhagwati’s Appoach
d.  Gandhi : The Years that*Changed the  jv. Malala Yousafzai
World (1914-1948)
Usha Srinivas Laxman
806 soli HIUTwD @8 Stonde HES' aé.:.ﬁ:‘.‘:nﬁ
DU SScmdben
a. T ©F15 L CreC0L) ey
b.  HoN &b ADNNE i DD 0F 5
c. O Q0 28NS 535200 DS, i, Surd Sof ¥
BEID T DS
d mTod : & 2008) &5 ToFs & iv. Herer dhrdoDaran
S8 (1914-1948)
A TV 131 ¥]

Choose the correct answer : /O c&ﬁrc}‘m‘bl J0NE Fabhoh
a b d

(1) v iv lcll i

2y W iv v ;

(3) i v i i

4) v i v

C SSI-GS1




(31) Read the following pairs sbout the Surajkund International Crafis Mels ~ 2019
8. 2019 Surajkund International Crafts Mela : 33"
b.  The Theme State of 2019 Surajkund Mela : Gujarat

Choose the correct answer :
(1) Bothaand b are correct (2) Both a and b are not cormrect
(3) Only ais correct (4) Only b is correct

ArdE 5008 sodTEaD (5D Tovr - 2019 K H020800 808 S0 SSS0A |
a 2019 &roeT 5008 odTach (D) Hher:33 38
b. 2019 &rdefHi0d v HB oo haoS

QO AIFTTR) JoDE Tahod
(1)  a%0am bBodr HOTSD (2) 2B b BOAT HOTDSD TH
(3) aSPEDH HOTSS (4) bIPSD HODSS

22. Read the following pairs :
a.  12* biennial edition of ‘Interational Aerospace and Defence Efhibition’ was inaugurated
by : The Defence Minister (Raksha Mantri) of India
b.  The IDEX/iDEX (Innovations for Defence Excellence) scheme was launched by : The
Prime Minister of India

Choose the correct answer
(1) Both aand b are not correct (2) Only bis correct
37~ Bothaand b are correct (4, Only 4 is correct
808 sded S¢S0l ;

1. ‘@odFadd dFVID DO ADSI DAS By 1285 BirdE JALSS
@rSoDod)s orth : 28 SRS

b. ©8225) (iIDEX/IDEX : S58)(30e £5% S3803%) HH50) rsodods o -
e | Drdod

QOFS AIFFTER) JobE Tobod :

(1) a0 b BoArHOPSDs%3. (2) b IME SOTLIO.

(3) adcin b BOANHET/ID. 4) adHED HOTDIA.

23.  ‘Parmanu Tech 2079" conference, which was held in February 2019 in India, was organised by

& Ministty of External Affairs b.  Ministry of Defence

c.  Ministry of Science and Technology d.  Department of Atomic Energy (DAE)
Chogse the correct answer :

(1), donly (2) bonly (3) aanddonly (4)~ bandconly

D050 2019 S° 2OAS ‘ST BE 2019” HAN) (R9IBSY) & DS DELFOTTE 7
2. DBR JSS0e HoBS s TY b. B85 HoBdss e

c. R, roldE Lods s Ty d. @0 R0SS (SO 250) T (DAE)
HBTS HIrER) JodE Fobhod :

(1) damesdh (2) bamadh

3)  adoBcknd Sresdh 4) b SbaiocSMSD

C SSI-GS1 : 11




24,  Assertion (A) :

ISRO launched a communication satellite named GSAT-31 in February 2019,
successfully.

Reason (R) : GSAT-31 will provide DTH television services, connectivity to VSATs for ATM,

stock exchange, e-governance applications etc.

Choose the correct answer :

(1}  (A) is true, but (R) is false.

(2)  (A) is false, but (R) is true.

Both (A) and (R) are true, and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(RAIES (A) : DIDSO 2019 &° GSAT-31 DHE 2.8 E5riDELS AHHTD) AWDOD
Hidese08's Hohod,

fasroly (D&sormr (DTH) OIS S0, ATM T8 mdh -8
(VSAT) ©® ®@R0aR), oS 935,00, d-drox frigiod a8
(GSAT) - 31 ®0&00.

RO VAT cond Dabod:

580 (R) :

(1) (A)QOPAA, SV R SOTDIS 5.
(2) (A) HOTAEA 5%, SO R HODASO.
() (A) 5005 (R) DoGr OIS SO (A) & (R) HITS D36 0908
(4) (A) So0ad (R) Bodr HOTDAD, 5 (A) % (R 20 Ddde s
Match the following awards with recipients :
Award . Reciplent
a.  Bharat Ratna (2019) i.  Ismail Omar Guelleh
b. Emst& Young Lifetime Achievemient(2018)  ii.  Bhupen Hazarika
¢.  Gandhi Peace Prize (2018) iii. Azim Premji
d.  Padma Vibhushan (2019) iv.  Yohei Sasakawa
v.  Kuldeep Nayar
808 HBM oo oS irde s 28500508 ;
SN So/eH W itre
2. 2rds 8842019 i aond abHhd
b. 87 & dhoff BHDS @HSDHodS i HDS Fards
(2018)
c. Mol TO8 258 (2018) iii. oD
d. o] DEFAES (2019) iv. S A5
v. 509D 3chHs
Choose the correct answer : / HOELA DSFTTR), JodE Fchod -
3 b ¢ d
() §i i v i
@ i i v v
B) i iv i v
@ v il i v

12



26.

b.
o

C

the following statements about the ‘PM-KISAN' scheme :

The ‘Pradhan Mantri Kisan Samman Nidhi” (PM-KISAN) scheme was introduced by the
government of India in its interim Budget 2019,

The scheme took effect from January 1, 2019.

The scheme aims at supplementing the financial needs of marginal and small farmers °

procuring various inputs to ensure proper farm income,

“_5‘1./"' A family comprising of husband, wife and minor children who collectively own cultivable

land upto 2 hectares as per land records shall be provided a benefit of ¥ 6,000 per annum
per [amily.

the correct statements :

a,canddonly (2) banddonly (3) a,bandconly (49) b, candd ofily

1DTH00(E SArS NN AG' (PM-KISAN) JH@5R8 dowodHod) Solgaimiod
WSS - '

a,

arded |D2heb 0 2019 mrer O PSS DHEFRID0E S DIMS DS TR

ISSFnsod.
b, & D580 8358 1, 2019 S0d LSS S8,
c. darod HbA D9FH Dében JHPS SSrch wodiry roBochfc Jdeomr

DD SgSArchH AEriSsed DEBOHEDE 6dE BINTOD sosoT GT0S &
2G50 esdododadod,

d. 2y 8sPHo 1Hsdo 2 P S85 b 2D Sodiviom) Ko 8, ardp bk
DB BROS KA 2.8 50400208 HOSS TS S 6,000 HELrBS0 DotHéod.

SOTd s J0dE Fchod:
(1) & c S0 d SmeH 2) bJBkw d SMSH
(3) & bSdc ¢ AMED (4) Wb, ¢ B0 d Sr(esad

@ Read the following statements about the “Subhash Chandra Bose Aspda Prabandhan Puraskar’ :

a.

b.

c.

The Government of West Bengal instituted an annual award titled ‘Subhash Chandra Bose
Aapda Prabandhan Puraskéic’ with the cooperation of the Central Government.

All Indian citizens afd osganisations, who/which have excelled in areas of disaster
management are eligible for the award.

8% Baitalion of Mational Disaster Response Force (NDRF), Ghaziabad was selected for the
award for thewear 2019,

Choose the correctstatement/s.

(1)

aand clonld> (2) aonly (3) aandbonly (4) bandconly

‘7R SOlESED 8D H0&S HEAE K Hoodod S0d TipioD S5ES0d

a.

b.

c.

Wrn SoISE R 8D 1DW0GS DoE e P Told (Dhés
DS E0S H3 3 BordS DS 10 07 )E Thod.

2D dpred Hoododd dadlrod' JTHBS rdsé Hen O
Hopen & I edey.

Fa5S BB BaryS) &8 (NDRC) a8 8 & 22¢rDchS, svadirard o702 2019
3 DODIS NS e & DR J0DE Trd.

HBTS WSO JoDE FaHos :

(1
@3)

a B ¢ SMSH (2) adSmesd
a 0805 b S (@ bSHdakn e Srsdh

SS1-GS1
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28. Read the following statements about the Election Commission :

a.  The Pnme Minister of India appointed Sunil Chandra as the Election Commissioner in
February 2019,

b.  The appointment of Election Commissioner is made under the clause 2 of Article 324 of
the Indian Constitution. '

Ch the correct answer :

) Botha and b are cormrect (2) Bothaand b are not correct

(3) Only a is correct (4) Only b is correct

2R 50 Q0TS J0D0QONS 806 TN SES0h

a oS DES Ho@ D238 2019 S HAS Soldd Ve Eabr

|'\.

ATV Teln /a1

b. 32708 Targofiay) 10860 324 Gy TF 2 S0 %o Snadd dairndo
2SHH0d. :

HOTS B2 oD TaHod :

(1) aS58cknbBosr HOTpS (2) aH8c5H b Bodr HOTWKD 59

(3) adMead HOTAIO 4) bar&D SOTWSd

@ Under which of the following Acts, a ten (10) percent econosiie reservation for those belonging
to economically weaker sections (EWS) of society came into foree in January, 2019 ?

(1) The Constitution (One Hundred and First Amendent) Act

(2) The Constitution (One Hundred and Twenty Second Amendment) Act

(3) The Constitution (One Hundred and Third Amefidment) Act

(4)  The Constitution (One Hundred and Second Aimendment) Act

DrzoSD eior aolrd ST EWS) TodS 708 H8 (10) TSo eds
828 500 23550 2019 & ) B340 D560 eSS By 7

(1) orargolio (8 S0 wEedisse) o

(2) oCzrjolio (8 S04 ASFBOGBS Nadw) o

(3) oTrjolio (28 Sod Srdsd HS8es) Sio

(4) oTzofho (a5 S04 BOdS HS580) S&o

30. Consider the followifig stitements about ‘Vande Bharat Express Train’ :
a.  Itis India’s fastest engineless train at 180 kmph speed.
b.  The train isGommonly called ‘Train 180°.
¢.  The tram runs between Delhi and Varanasi,
Choose'the correct statement/s :
(1), ‘@andconly (2) conly @/a,hnndc (4) aandbonly
‘BoT 2rE8 JEY DN Ben' K H020H00 808 TP HOKA0S0A ;
2 180 8.0, Jrod SAHT & 202 SR Dew ardSSFios wsjod SHS0STdd.
b. & Dnd Argrdaom ‘TPond 180" @l eodrd.
c. &3 A - ;Eheo &5 S8HES08,

ROTS TIWO)d donE TWabhoh:
() aXdckhyec S (2) cImMSD
(3) abdciwe () aSdain b IMeEDH
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31. ﬁ;pn_'h_p;er that softens on heating and hardens on cooling is known as a thermoplastic. Which
one of the following is the example for thermoplastics 7 ' d.‘ x

(1) Melamine (2) DBakelite
(3) Neoprene (4) Polyvinyl chloride

38 Jabr Ddad, SHDST HEHE FOEDH FEETYS votrd. 208 S8
ST TREE ATrie 2O 7

(1) Des 2) DEBS
(3) ATMDS @ >d235585

32. Statement (A) : Silver and copper are good conductors of electricity.
Statement (B) : (lass and rubber are insulators of electricity.
The comrect answer is :
(1) (A)isnot correct but (B) iscorrect.  (2) (A) and (B) are not coffést.
(3)  (A)iscorrect but (B) is not correct. () (A) and (B) are cofrect!
(SHS5eieS50 (A) : Fod S0 T S Do irsen.
[0S 5SS (B) : 2 HO J2)% DS nodsen.
ROGDS AP :
(1) (A) HOTASG 50 SR (B) HOTRO.
(2) (A) 00D (B) 265 5.
() (A) HOTDSA 52 (B) HOTDSO s
(4)  (A) 00D (B) SOFS.

33. The optical instrument that is'used by Army personnel to se¢ their enemies while hiding

themselves is :

(1) Stethoscope (2) Simple Microscope

(3) Compound Micrgscope (# Periscope

TR W S2H5000r 80 Ardirds T 58 >SS
(1) RIS (RE &) (2) POF ISR

(3) H00HS SrE 1080 4 DOFLD (ROKBBY)

34. _ The principle involved in the motion of a rocket is :

(1) Law of conservation of energy (2) Newton’s first law

(3) Law of conservation of mass (4) Law of conservation of momentum
3¢5 Kooddnd’ cndnd ) Mo

(1) 48 Déged s DOReSSW (2) Argtoch Jwndé Adbabdn

(3) (155502 Dby 5 DDA (@) (ST Ay s Do
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35.  Superphosphate of lime wh E]l is used as a fertilizer is
(-l-fl/ a mixture of calr.:lum dlh:,'drugen phosphate and gypsum
(2) calcium dihydrogen phosphate
(3) calcium phosphate
(4) gypsum
QDY TT “ArdHd oyl D D" ST
(1) sOdhd B 3 T=s ) SHodw 22500 S0
2) 5ODLD T IMEBS >r)d
@) sYAWDD IS
(4)  BDYD
36.  Which among the following is an amphoteric oxide (which behaves acidic@s well as basic) ?
(1)  Aluminium oxide (A503) (2) Dinitrogen pentoxidé (N,05)
(3) Calcium oxide (Ca0) (4)  Sodium oxide@Nay0)
8o @ 1ls o8 soPBos u;._-,;es (@3e3) SO BE D rdS Kod) o BID
Denrth ?
() oo eE)5 (ALO05) (2) BEESS oer3y5 (N,05)
(3) sQdbo 63,4 (Ca0) (4)), BCHO &F)8 (N2y0)
37.  Match the following chemicals with ite applications :
List-1 List - Il
a. Sodium benzoate 1., antacid
b. Saccharin il, analgesic
€. Aspirin til.  food preservative
d. Baking soda iv. artificial sweetener
808 Srardhod o8 addrros 2EHEHIW ;
- ade aHer -1
a. Fhahed ToS'aDHES - i dirotr S
b. AEBD i, oodng
¢ (@05 ii. @S dorFgo dodiso
4  D8of &% iv. E)80 8D ssso
The correct answer / DOTA DTG0 :
a b c d
) v i i iii
@ @i v i i
(3 i 11 i iv
4 i v i i
C SSI-GS1 16




38.  Assertion (A) : Oils are generally liquids at room temperature.

Reason (R) : Oils contain unsaturated fatty acids.
The correct answer is :
(1) (A) s true. but (R) is false.
(2) _(A)is false but (R) is true. |
7 Both (A)and (R) are true and (R) is the correct explanation of (A).
(4) Both (A)and (R) are true but (R) is not the correct explanation of (A).
DBDESS (A) : 5 ST SO STRFen Arordmorr |SS58rhod godran.
TSm0 (R) : ArFen @0068)0 §ajs sdred 58 aodran.
0FA) AITETR0 :
(1)  (A) Q@ 5°0 (R) $ay ).
(2)  (A) &) 5 (R) Qasadw.
(3) (A)<D8cin (R) Bodor Dz anddin (A) 50 (R) SO DaSdes.
(4)  (A)DHBAW (R) Bodr dzdw, SR (A) 50 (R) SOToed DdSen s,

3.  Which one of the following levels of carbon monoxide present im amtu-sphen: (in ppm) leads 10
instant death of human beings ?
808 35085 Feidno &' ?ﬁ;ﬁ TTRE Fov m) oF IrdHe SEe
HEETE B SO B ?

1000 (2) 100 (3) 250 ; 4) 10

40.  Which of the following statements are correct 7
a.  Melamine polymer is used in the manufagture of unbreakable crockery.
b.  Enzymes are biocatalysts.
¢.  DNA fingerprinting is used for jdentificition of ¢riminals.
d.  Tincture of iodine is an antiseptic.
1808 o3S” HOTPS Deiden D) ?
a G0 Dored S0 Saird TabarRl oS FO0BD IrchErdD.
b. 0ESDen 285 FE B,
¢. DNA Dot | Dotdofish Fdawed Hlodardt aderd.
d. ¢30%)5 6 «GirSS oI .8 cirodnYs.
(1) abec.d ab.c 3) be.d @ b,c

41.  ldentify the comrect statement with respect to hypo.
i. Itds used in photography.
il. o Itis used as antichlor.
hidy, It'is used as antiseptic.
i, It is used in making artificial silk.
2T § D020HOD S0SIEK, 8o ¢3S HATDS g DA 7
i, A PEEHS e
i. A eosSbroded
iii. AN ArodRPET FEESH
iv. A LEH DS}, dairdS’ sded.
(1) i, i, iv (2) i, i, i (3) i, i, iv (4) i, i, iv
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42.

45.

Read the following statements

a.  Mendel's cxperiments with sweet-pea plant gave monohybrid genotyperatioof 1 : 2: 1.
b. Changes in gene frequencies in small population is called *Genetic Drift’.

¢.  ‘Transmission of traits from parent to of fspring is called ‘Heredity’.

Which of the above statements is/are correct ?

(1) aonly (2) abandc (3) aandc (4) bandc

fos IHSdTed BdS08

a & 208 J6HiS olS PErTed 28 Sotdn adhidrH M8 1:2: 1.

b DS aarerod 3] B0 SR Srdyed ‘@d) NS0’ 8otrd.

c. a&5%e Hod oFrrad N0l wodHodndiry) ‘e@ooTES’ eotrd.,
2 PDSSddnes’ DO/ dzo 7
(1) admad (2) a,bldAwe (3) aNddwe 4) bSddine

The quality of citrus fruits is affected very much by ‘canker” disease. This disease accounts for
huge financial loss to the growers of citrus orchards. Name the micro-orgfnism responsible for
this disease. '

(1) Fungi @¥ Nematode  (3) Virus (4) Bacteria

‘S0EE S0 S92 AN Jod Toisd ot B2)S0od. Al Swen ol
SgSRrohorden & ad S0 affomr arm SPFed. SIS SRS Jrf1dd 28 7
(1) 3Doso ) HESH 3) B | (4) 2r§dasr

The folding of leaves of ‘touch me not’ plant upon tough i$an example of :

(1) Tactic movement (2)¢, Circadian rhythm

(3) Nastic movement (4} Tropic movement

‘@858’ BHOMN SEPETNS) IR 2005080 1$0d TS RS aTErden ?

(1) edodo () STpSAHS &S

(3) enHhHodé dado (4) e0dSdS Sedo

Assertion (A) : In a basket with raw mangoes kept for ripening, if one fully ripened mango is put,
all the mangoes ift the basket ripe very quickly.
Reason (R) : Ethylene comingyfrom the ripened mango induces ethylene production in raw
mangoes and accelerate their ripening.
The correct answer is.:
(1)  (A) is corredtybut (R) is not correct.
(A) is net comrect, but (R) is correct.
(3) Both@A)and (R) are correct and (R) is the correct explanation of (A).
(4) Bothi(A) and (R) are comect, but (R) is not the correct explanation of (A).
DHBMES (A) @ HodSo Flo HD) rdsah enodd wHS i HodS o
SrAS oD G008, 8 HS'D B Fohen & PS8BS dodherow.
SEH0 (R) : 0T 5088 Srndsad Sod hde ©dds HHOS WADS sahods
NS &S I8N HDNODT R DES o gBé 0 FWoh.
AOTS AedrEedo ! )
(1} (A) SBTAS, R (R) 0TS 580,
(2)  (A) QOQDSE, 5780 52 (R) RO,
(3)  (A) b0 (R) Dodr OG002, sddin (A) 50 (R) RO Db,
(4)  (A) 0d (R) Bodk HOFTDAD. 57 (A) 80 (R) SO D8 e,
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46.  Ligaments connect bones at the Joint and hold them in position and are made up of collagenous

fibres. The fibres are made up of -

(1) Lipid (2) Carbohydrate

(3) Calcium compound (4) Protein

DiiToSen ddnfosh Sofdere (Joints) &' §OD T HODS TS worheraw.
SHocky ©d FrES SodhHod’ JOotaS dotron. & Sodgey I8S Sars
odtTow ? -

(1) ODS (2) =&)rEs

3) sDaho H¥so @) | ress

47. It is a well known fact that mosquito bite is the causative factor for malarid, Which of the

following mosquito is responsible for malaria ? .

{-H/ Female anopheles mosquito (2) Female culex mosquito

(3) Male anopheles mosquito (4) Male culex mogquito

8% 5 3@ HBBAEr SWod B8 oS08 BOLS Badhd, & 1Bod 2552088
Shos 26 HBoar oITE sSeo ?

() 86 6sDOD &% ) ©5 58 &%

(3) eSHOHED 4) SHEMSE) &%

48. A vaccine contains an agent that resembles a. disedse - causing micro-organism and is ofien made
from weakened or killed form of micpobé of dts products. Identify the scientist who discovered
vaccine for Rabies.

(1)  Jonas Salk (2) Albert Sabin

(3) Louis Pasteur (4) Edward Jenner

TiRoD §ON0T JrSFIOD FOI sETOD IS O dotrow. DOArSHS
85 SIS ArFidgen B 8 dur)dvo D08 FEHTODH Scird T, DG
T8 TEISD FulS) T ASS 5% 7

(1 &osreE (2) oo >dDS

(3) erdRdi4y6 4) 2650 85,5

49,  Thepart of the brain which co-ordinates voluntary muscle movement is called :
¢1) Medullaoblongata * ~ (2) Hypothalamus
(3) Cerebellum (4{ Cerebrum
50400 AALoIBS DOTOMN I0TROT A 2rrDE e Dk -

(1)  SFogpo (2) TFoR
()  edHVBo (4) &R0
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50. Read the following statements :
a.  The lens present in human eye is concave type.
b.  Far-sightedness is called hypermetropia.
¢.  One of the functions of ear is to maintain balance or equilibrium.
Which of the above statements is/are correct 7 .
(1) aandc (Z{ghandn (3) asandb (4) bandc
1506 |2edtdriainen L9 ;
2. SN $083S GoT E¥o Hirss SEo.
b. &8 S50 rHb DS woir @otrd.
c. RSN B ST AN S0 3D B 2.8 DA,

2 [S5598850e S’ A/ Do 7
(1) a=08diwe - (2) abdcne
(3) a&Bw b (4) bSbakoc

51.  Which of the following statements is/are correct ?
a. In humans, red blood cells lack nucleus.
br: People with AB group blood can donate blood téanyother gmup
eparin facilitates blood clotting,

aandc (2} aonly
ﬁﬂq’ aand b (4 bande
1208 |55 58 Sned’ /DD dzod

2 Srddod B siiaren SolBTR) ) owody.

b. AB &8 580 $DAS e DSOTT 85 S0 TaAHS).
¢. YOS 8o (P (NE Srasthdosd.

(1) addciv e (2) asmesd
(3)  a»oaD b (4) bSBcw ¢

52.  Bacterid dre microscopic organisms. However, there is a bacteria which can be seen with naked
eye. ldentify it from the following :

(K2 Clostridium pasteurianum (2) Thiomargarita namibiensis

(3) Cornebacterium renale (4) Agrobaciterium tumefaciens

Zri00iren &8 Ard s AP sand H30 L0B8S SrEKOS BT 2868 a8 .
R (Bod o8 hod Hbdod.

(1) s Ao 4 B0crdsS (2) GTraroty SadahShR

3) ¥6)rschS o7d (@) o 2rE8cH5 I HLEHS)

C SSI-GS1




£3. Read the following statements :

a.  The tendency of pollutants like lead to concentrate as it moves from one trophic level to
the next is referred to as ‘Bicaccumulation’.

b.  In marine ecosystem, the biomass of producers is less than that of primary consumers.

¢.  The flow of energy from one trophic level to next is associated with loss of energy.

Which of the above statements is/are correct 7

() aandc (2) t'.‘-ﬂl.'ll}' (3) aandb (4) bandc

120d |DSdmrod SSdSodk

a  ®J0 (lead) erodl sedrjen &FEH FenHoS'™D of FHE Fan Modr@dirs
FHE rand’ T rod¥ S0 edhs DR TS ITAS ©osrd

b. &PV (marine) B35 S39S’ ad 8B A5 &S507P 1HEH DTt

A5 1555077 ot SBogal.

c. 8 DA Fron Qod Sorg8 FAE Frowt 18 19380 28HLIND Tos 8 Syor
e9:3e008),

2 DISTOSDE/DD HOTED ?

() adddive (2) cdmed (3) aLochyb (4) boBckw e

54. Match the following names of plants with the groupsto ‘which they belong :

List-1 List - 11
(Plants) (Groups)
a.  Rauvolfia .. Medicinal plant
b. Parthenium ii. Endangéréd plant
c. Jatropa iil. Invasive species
d. Red sanders iv. (Bib-fuel plants
B08 Epe DD 88 pdiod 3SDS S ;
aDor Do -1
(Ro¥yen) (2~&oen)
a. O3S i Dad=a
b. BP0 (Soirsdared) il eHSS ad) ra
¢ ABD (03D sI30S50) i, e%on 2rd
d, \dS %080 iv. 23 208488 )
Correct Answer is : /28 HOTS JDSrgdo :
a b ¢ d

(0 i v i i
@ i @i v i
@) i i i v
@ i v i i
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The purpose of using an electric fuse in an electric circuit is

(1) toconvert electric energy into light energy.

(2) to reduce the electrical energy consumption in the circuit.

(3) toclose or open the electric circuit.

(97" to protect the electric circuit from excess electric currents.

2.8 Do soahod DS il TE%o SO SO 1HTrasdSw
(1) Dogd 380 570 ¥ Srdoytod.

(2) Sechod’ Dengs DITrHS SHorherk.

(3) NS ciry) Araberds S 85chek.
4) S odird) edE s HarirFe ol 88 ochdrdy,

When ice melts, its temperature

(1) decreases (2) first decreases and then increases
(3) remains constant W Increases

200t SCMDMAD) I ) Ai)e8

() &ihéood (2) e ) S DHd0d.
(3) Pboraotnod (4) Hhéogd

The brightest planet among all the planets is :

Venus (2) Satum (3) Merury (4)  Jupiter
6] [0S’ 3 15571508 (o '
1) Dok ) 4D (3) ) ek @ oY

‘Global Warming’ is a contemporary environmental concern. The group of gases which
contribute to this are :

8~ Methane, Nitrogen dioxidé,@zone (2) Nitrogen dioxide, Hydrogen, Oxygen

(3)  Methane, NitrogendioRide/Oxygen (4) Methane, Hydrogen, Nitrogen

e moo Mad T00h) ©I0 305OS SoS8m HDHDL & DD SrEHE
SCIDHEY AdeAATAT ;

(1) FS, 25T 655,455 (2 BS=IB B, ES, elns

() WBPS,JEES BeE)S, 08)aS (1) DFS, TS, [SS

In the following s which is ferro-magnetic substance exhibiting unique behaviour ?
(1) @Bismuth Iron (3) Manganese (4)  Aluminium
EoBBOTOS DO H5arS50 158800 DI echar) o8 Hord Hd 7
) DS (2) 2w (3) Sroddb (4) earicho

The shortest distance travelled by an object in a specified direction is called :
(1) velocity (2) sacceleration (3) speed -fﬂ?l displacement
25 PP DS HIS" 30 |HATBoDS 88 S80S &rdo

(D I 2) &s8sw (3) S8 (4) WS Poddw
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61,

Match the following early Satvagraha campaigns of Gandhi with their problems he addressed :

List — I (Places) List — I (Problems)
a.  Durban i.  Tinkathia system in Indigo cultivation
b. Champaran ii.  Racial discrimination
c.  Ahmedabad iii. Peasants oppression
d. Kheda (Kaira) iv.  Mill workers strike
1508 Mod 2605 O JHEryir diSrod 8518 J08S) Do 2aHSaD,
e - | (Drowrey) Do - 11 (HHdgewn)
a. SO i O Ho AMHS'D BosBair HPS
b, 0dT . era DSHE
. earincrard) jii. Be wedds
d. B4 (38 iv.  vew 0 e | PH

The correct answer is : QBTN VOO
a b c d

() v G diE

(2) i i iv i
(3) 1 ‘ i i v
(4) i i iv il

62. The Jallianwala Bagh massacre occufted it 1919 when hundreds of innccent people were killed.
In which state Jallianwala Bagh is logated 7
() gt @) Kashmlr  (3) Rajasthan «  Punjab
1919 HoS8 508" 2HAWS ol Horisod’ Soderd vlrdbiven todaG.
200HS ol Do 80S’ Hod ?
(1) oS (2) =5 (3) ouPTS 4) Hozds

63.  What was the slogan raised by Subhas Chandra Bose for his Indian National Army (LN.A.) when
it joined Japanese forces on its march against Burma and India 7
A inquilsb Zindabad (2) Delhi Door Hai
(3 Chodo Delhi (4) Chalo Delhi
2080HS FASS 18] (D.I5.D) PR 23S DSod To woy, résdion bl
2EHenTON0D I R HoIOER 45 PAROH 2DIS JT Do ?
(1) aNsesS dozerd @ D&t
¢ Ead 4 95'86d
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64.  Assertion (A) : English language played an important role in the growth of nationalism in the
country.
Reason (R) tl)’ Indians felt the power of English language in Wordsworth sonnets about human
li 2 :
The corl:tﬁ answer is :
(1Y  (A)is true, but (R) is false.
(2)  (A) is false, but (R) is true.
(3) Both (A) and (R) are true, and (R) is the correct explanation of (A).
J#~ Both (A) and (R) are true, but (R) is not the correct explanation of (A).
VDS (A) : TATIrGH0 DEDSOH @0l 370 D8O BTrS M Srodod
SEWOR):  SrHYD Dol Hard Hro S 5§ &8 §dderd” eoll i 15N
aréaciney SSrT .
o OIS RATEIR0 :
(1) (A) Dz, 50 (R) 43y,
(2) (A) 83) 5, (R) ez,
(3) (A)D8dw (R) Dodr Azsan, 0bain (R) (A) 50 SO0 Sl
(4)  (A) DB (R) Dodr Azaw, 5% (R) 50 (A) DT D580 s

65. In the administrative system of the Qutub Shahis, “Meer-Jémla™ was an important officer. What
was his main duty 7
(1) To head the finance department (2) To supeivise the Mosques
) To look after irrigation department  (4) _To supervise the religious officers
S0 FIrO HEDOT VTH0S “b -2l A DS $HS0. S (HETN 2SS O ?
(1) &RFrgrdHddgin.
2) Shhed $2d Jawe.
(3) AED>HEL JarrR) DELDEGVE.
(4) HEdHshoD HO;BEH.

66.  Match the following festivals wath their significance :

List ~ 1 (Festivals) List — Il (Their Significance)
a. Muharram “_ L First day of Shawal
b. 1d-ul-Fitr Ji.  Sacrifice of goat/sheep
¢. [Id-u-Zuha ii. New Persian Year
d. Nau-roz iv. Tazia Procession

B0d Sodbfiod 8 |erdied ad Satvs.
e I (Sothiien) aDer - 11 (Prdvpgd)

a. Frdo i, 23S FosS D

b, (S8 A HAS i EFBD ad Jabero
e aSazd . r8ye Aréd Hodédo
d JET iv. =2y @#0NoD

The correct answer is : OIS DAFGTHO :

a b c d
(1 Wi v i
(2) 1iv i il il
(3 i ) v

& i v il i
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67. The Battle of Plassey made the British to attain political ascendency in India. Which of the

following were the parties to fight in the Battle of Plassey 7

Jd7  Siraj-ud-Daulah and Robert Clive  (2) Tipu Sultan and Lord Wellesley

(3)  Akbar and Hemu (4) Babar and Ibrahim Lodi

TR ddsn risSios’ D8 06 valah ®OTS FIIH 080D, 8 dudo

B0 BODS FOS" JSTHO H¢g 2O 7

() DoF aFo-oof 3 2 8JTDH-oEIRY

3) aﬁ;,d:- - s @) ok -arsrodHd

68. The Railway Budget was separated from the general budget in 1924. Which one of the fﬂihwmg
committees recommended for such a separation ?

(1) Nicholson Committee (2) Robertson Committee

(3) MacLegan Committee (4) Acworth Committee

1924 Hosé 80" BEs 2FS, Fodn 2FS Hod 3D Dahadod. ©8 Iorend
SR T S8 1806 78S D8 2

(1) DS EDoes 2) oafoS shes

(3) DSOS Ened (4) o556 5

69. Which one of the following was not a part of the Gm of India Actof 19197
(1) The universal franchise was introduced by th@nct.
There was to be two houses of legislaturg'at the centre.
(3) It gave more powers o the Provincial'governments.
(4) It introduced Dyarchy in the Provinces: _
1919 2738 10206 523 SPSNSE HGVOS0DH 1500 HSBISNOS DO HOTDAO S ?
(1) S8 Ltn Iy iD50B0800.
(2) Soldos Bok Hfed ABTHS B2 Joritionod.
(3) o3 e o BN essores vodooron,
@) Olrod S106K1HZ08 50 DO L.

70.  Which of the following does not apply to Tipu Sultan’s administration ?
(1) He intraduced a new system of coinage.
(2) He introduced a new method of weights and measures.
(3). " He'introduced a new calendar.
4~ He shifted his capital from Srirangapatam to Mysore.
& 1808 HSDII0LS” DB 85y) TS HoFOS HOTSO S ?
(1) ®eédk S HQ8 Hod PIFnR.
(2) &% TS Srdien, Fodod B3V,
(3) ©éd TS Ti00dbd 15T,
(1) ©dd &5 T AT BoiHe) 0 Hod DA S8 ).
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1.

What was the plough known.as during the Vedic period ?

(1) Satamana (2) Nishka
(3) Sira (4) Sita
6% rood TEO DHT %7
(1) D (2) Dy
@7 6 4) &

72.  Which one of the following statements is not correct regarding Indus Valley Civilization.2
(1)  They used burnt bricks for buildings.
(2) They used iron implements,
(3 Indus Valley people built big cities.
(4) They were not war lovers like the Aryans
ok S'ah THEESS 3020800 cxr 1§08 PISTroS DAVBIS 5% 2
(1) o Hdmredd sdHd adnden dtlrhotrd.
(2) o3 20D DA dadirfocrd.
() o S'ab Paen 1 Storeds ddoT
(4) eatger I8 S g Doivewn s,

73.  Which among the following vows was niobadvocated by Parsvanatha, the 237 Tirthankara ?
(1) Not to steal (Aparigraha) (2) Not to marry (Brahmacharya)
(3) Not to injure life (Ahimsa)y” {(4) Not to lie (Satya)
& 1500 a3 235 Adostodh 3 sth Ardotd Arso 26 7
(1) e/ (2) 12&psdso
(3) earon (4) Rédso

4.  Who amOng the following was the Greek enginger under Kanishka to produce artistic creations ?
(1), Vanashpara (2) Eucratides |
(3)  Agesilaus (4) Mathara
& (800 TS, SR oo HrarrdE IPodH JHoDS PV B Ro2AD
e 7
(1) 333238 (2) cSoEBE
(3) HROD (4) Hed

C SSI-GS1




75.

76.

78.

Assertion (A) : It is said that Satavahanas had lunar origin. .

Reason (R) : The Satavahanas are equated to *Saptavahana’, the Suii’s Chariot with Seven Horses.
The correct answer is :

(1) (A) is true, but (R) is false.

(3~ (A)is false, but (R) is true. -

(3) Both(A)and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true, but (R) is not the comrect explanation of (A).
PDBDES (A) : PSITTRen SoIBH S B)ded Fodd edRrabasv.
S*8®0 (R) : TSI I HIoren KOAS Hrdgd S808 e yudard.
QDOTd NSFETS0

(1) (A) D23, 5°2 (R) A3

(2) (A) S35, (R) da3w.

(3) (A) o8k (R) Bodo Dz2iw, SHBcKH (R) (A) Ko HOTS DS8es.

(4) (A)00d0 (R) Bodr da5w, 50 (R) 50 (A) SOTDS JSde s,

Assertion (A): The Mauryas established an elaborate system of administration as Kautilya said
that the administration cannot be the work of one man, just ds.one wheel cannot drive a cart,
Reason (R) : Sungas, the political successors of the Mauryas did nét follow such a policy.
The correct answer is :
©F  (A) s true, but (R) is false.
(2) (A) is false, but (R) is true. 4
(3) Both (A) and (R) are true, and (R) is the correct explanation of (A).
Both (A) and (R) are true, but (R) is not the gorrebt explanation of (A).
(A): Flengddy TDINEN 20A 28 Bfod IBIBILY, Fhgen N&HO
DHD5)S Do HOTORT DFSIND DEIBK.
FEWOR):  STsen orzfoh FBH ol orzren 8¢ HORD eHEbos B
O NITTRO
(1)  (A) 235D, 52 (R) €23,
(2) (A)S)5W), (R) Dzied,
(3) (A)=0bdiw (R) Bodr Naaw, S8k (R)(A) S QOGS DSGe2.
(4)  (A)DOChD (R) DOGAK Azsain SR (R) 50 (A) HOTDHA oSS 5°E%.

After the death of which emperor of North, Satavahatnas rose to political prominence ?
(1) Chandra Gépfa (2) Samudra Gupta (3) Bimbisara (4) - Asoka
HSIBH5Y 2 S5|558 JoderSosdo TdTrden cradahor ¥850£88 7

(1) Solehsd (2) JAWBHY (3 Dod>H (4) eiHhd

Sacred Buddhist literature in Pali in the form of the threc Pitakas is an important source for
ancient'history of India. What are these Pitakas ?

(1) " Vinaya, Sutta, Abhidharma

(2) Mahabhashya, Sambhitha, Arthasastra

(3) Lalithavistara, Divyavadana, Mahavamsa

(4) Dipavamsa, Mahavamsa, Jataka

ar3S5E |DS OS5 P 2rad'D HJS TY 0D HoSE Sk Dédfen &

[SEFS BrTreD. &8 DSy DD 7

() D3k, e, dds). (2) oDTerig, DOdre, T .
(3) D& IS, HI5TES, HFSod. (1) HHB04, IFSoE, e,

“.\-
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79.

Tuzuk-i-Baburi, the memories of Babur was originally written in which language ?

AP~ Turkish (2) Urdu (3) Persian (4) Arabic
272l e85 “drers - rnd” Fnded J S Fohadod ?
(I &Ha 2) &% (3) HGADS (4) 3DE
80. Match the following kings with the monuments they constructed :
List - I (King) List - JI (Monument)
a. Akbar i.  Jama Masjid
b. Jahangir ii.  Rabi’a Daurani
¢. Shah Jahan iii. Agra Fort
d. Aurangzeb iv. Itimad-ud-Daula’s Tomb
1808 oraren, & 8008 SHare s 28 HEHdw
arDer - 1 (o) e - 11 (§&40)
a. @55 i 23 S
b. rofb ii.  6Dakr T'oR
c. arants iii. erfo
d. DdondS iv. @B Ber vdrd
The correct answer is : DO HArprdo :
a b .¢ d
(1) @i iv i
(2) i i, v i
3) v i ii iii
. iv il i
81. At which of the following places Harsha afranged Moksha Parishad ?
Kasi (2) Mathura (3) Kanauj (4) Prayaga
& 1808 2B S T8 SERAIBVE HOXSED 83 om0 Tard 7
(n =2 (2) Soded (3) §TL (4) |Hates
82.  Which one of the following Statefients is not true of Mohammad Ghori ?
(1) Mohammad Ghori was defeated by the Rajputs in the first Battle of Tarain.
'(2) He appointed Qutub-ud-din Aibek as the Governor of his Indian territories,
(3) In one of hig' expeditions, he attacked -Somnath temple and plundered its riches.
(4) He defeated Prithvi Raj Chauhan, the ruler of Ajmer in the second Battle of Tarain.
A B0aDAPRIED HBODS 1508 DSSSSneds DA HOTSA .
(1) DSBS A@os’ rd TS oraiides LA0NRBD.
(2) L TESTHoS' =wH oWODD |oToRH HHWES D28  ASS T
(3) ©8d o8 So4drSS FHTd Tooddind So88 &8 SsTho
R D ATNAY ,
@) ©#5% RS Hydioe TFSH Bodsd &5 dudod’ LdoT.
83. The famous musician Tansen adomned the court of which Mughal emperor 7
(1)  Jahangir (2) Shah Jahan (3) Humayun (4) Akbar
[Herged Dol Do S DS D B HESE sFPIS0S’ doB S ?
() =rohb (2) IS (3) MSocindS 4 505
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84. Name the Asaf Jahi Prince who in 1339 headed the Wahabi conspiracy against the British in

Hyderabad. :
(1) Mauzam Jah (2) Mubarez-ud-Daulah
(3) Turrabaz Khan (4) Azam Jah

1839 DosS lod’ D 08 $58TE0r ard) DOH TODES0 SPODS
A0S e3Pty cRSrSHTESG ?

(1) SFazodyr (2) b al Ter

(3) oo o (4) e2rolyr

Which of the following staternénts is not true regarding the religious policy of Akbar ?

(1)  Fanatical Islamic clerics supported his tolerant religious policy.

(2) His Hindu wives played a vital role in his religious policies.

(3) His parents had considerable influence in shaping his religious outlook.

(4) His guardian Bairam Khan had great impact in moulding his religious views.

1808 (DS80S ©83% S Derdsndsy H020H0D SRRSO 5% 7

(1) S8 DS D5 TR SSTEBS B0 S VP& Krdh ©HISrIoDS.
(2) &5 rodr sren BSH) ©HHBODS S DordiuD D) Herso corde.

(3) ©8d $DSothen 835 HSHEPS 8S WS arer 355 |DHarddo T,

4) ©8 5084 E5Td B0 1S 8D Hé VS350 (H2rdso FobAORS.

Which Mughal emperor built Buland Darwaja considered as “one of the most . perfect
architectural achievement”, to commemorafé Mg victory in the Deccan 7

(1~ Akbar (2) Aurangazeb

(3) Babur (4) Humayun

T SerbErg wdios HOQERET HoN Fodd aerod dorsa 2 Fnd iES0
S5 S5 & SodoinSa DAl ArdiSnm A8 7

(D 55 (2) ZSoden
3) ok | (4) SrosHcind

The most important feature in the Ryotwari system of land revenue administration was

(1) Thé&land rents were collected directly by the government from the ryots.

(2) (The right to collect rent was sold in auction to the highest bidders.

(3) " Fhe land rents under this system was paid in kind and not in cash.

{4)° The rents were collected by the Zamindars on behalf of the government.

Ber 0 2D SAren HPS S DS woisn

(1)  Zr Bée Hod (D20 D Fom Saren IDAS.

(2) Do 3 Saren I 08580 Foo Srevor b Jndo BT 508 ToBo.
(3) & 5EHAS D WY 8 &rHod mE s Erdod’ BB .

(#) o 3 1DZHS $HOOM BDOTE SHren TS I,
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88.

Which of the following terms refer to village accountants during the reign of Alauddin Khilji ?
ua/ Patwari (2) Choudhari (3) Khot (4) Mugaddam
BTIHS DO HoYrOS sod, & 1500 DEN) TES, ITH BHod fdod IO
DDA DOT % ?

() 2ersd (2) I8 (3) £ @) Sopgo

Who among the following is reported to have said : “Hinduism is the soil into which India’s rodis

are struck, and torn out of that, she will invincibly wither as a tree torn out from its place.” §

(1} Annie Besant (2) Atmaram Panduranga

@y Swami Vivekananda (4) Swami Dayasnda Saraswati
“WrodrHdHT IiSod ESBEEYy Sreren Sydor FHHMFencon. oD
s ADNCDS, Frdnd' Hod DEDOSWAS BEPIB IDMPHD” © (208
DI 7O Q5% Ty 2

(1) ©dDIoty 2) ee80 Ioldor
(3) Ao d3ES08 (4) ;gD SAFSOL HSM g
Match the following novels with their authors :

List = I (Novel) List - 11 {Author)
a. Indulekha i.  Devaki Napdan Khatri
b. Godan ii. Rokéya Hessein
¢. Chandrakanta iii. “Prem Chand
d. Sultana’s Dream ivi «“Chandu Menon
& 808 Sdech re8 SHabes 255 A ;

= Der -1 (FS0) arDer - 11 (Bdand)

a. @O i T8 S0 i
b. Ao® ii. O3db 3RS
c. ol sos i, [ Sob
d. ®owh\do iv. 50 eSS

The correct answer is : HOTS JHIrEo
a b c d

(1y iv i i il
@ v i ii
(® W v i i
(4) i i v i
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91.  Match the following :
List-I (Iron ore mine) List-1I (States)

a. Dalli-Rajhara i Jharkhand
b. Ratnagir iil.  Odisha
¢. Noamandi ili. Chhattisgarh -
d. Gorumahisani iv. Maharashira
1Bof aelR) 2SS %,
erdor -1 (@bd gréd D)  2rder- 11 (ov(aren)
@) &D-orb ) ergod
(b) 88300 (i) &
(¢) F3ob (i) SBDE
(d) A& Soerard (iv) o
Correct answer [ 0D fedIGrd0
a b C d
(O §i v i i
2 i v i i
(3 di i iv i
(4 i v i i
92.  Which of the following is the casternmost tributary of the Godawvari river system 7
& Pranahita (290 Sabari
(3) Kinnerasani (4} Indravati
Bod TBS Ao S& S558 gy BStod SrdHId ac) AII0 DO ?
() |deoirs (2) 428
(3) &3] 8D (4) =0l

93.  Read the following statements abott the definition of Urban area as per Census of India :
8. A minimum populatien of 5,000
b.  Atleast 65 percgnt of working population engaged in non-agricultural pursuits,
¢. A density of population of at least 400 persons per sq. km.
Which of the above statement/s is/are comrect 7
(1) *b" and ‘¢’ only (2) ‘a', ‘b’ and ‘¢’
(3) ‘a%and ‘b’ only (4 ‘a’and ‘c’ only
TOSTE T BHO D560, IYD FTrome B, ISLSTIE Hon0dOD 8o
FELNOD SSS508.
2 SN BETer 5,000
b. 500 65 70 (00 Ao SsSrahess Sofos” HATahiso.
c.  E0 25T 0I5 400, DD S5 L5 |
2 DO 105G DB/ DOTSE/IBTID.
(1) ‘b’ Hbot ‘¢ SrSD (2) ‘a’, ‘b, SHdcky ‘¢’
() ‘o' nda ‘b SMEDH (4) ‘a’ bdbotw ‘¢’ SMSH
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94.  Which of the following Union Territory has the lowest sex-ratio (2011) ?

(1) Dadra & Nagar Haveli (2) Andaman & Nicobar

(3) Daman & Diu (&) Lakshadweep

1808 oS DS Fromred’ wsio) |N-HHA K8 (2011 ) o rosdo
(1) O Do 6 3O (2) ®oSSrS Hbdcky &S

(3) e ook ok @) i85

95.  Which gng of the following pairs related 10 hydro-electricity projects and rivers is not correct 7

{1) Salal - Tapi (2) Tehri— Bhagirathi

(3) Dul-Hasti -~ Chenab (4) Jayakwadi— Godavari |

1808 TS B8e ;B 01070 SHOCK0 ¢ k) SHe HEGD VOSD 28 DA 7
(1) Heord-ad (2) @8r-IH5H

(3) SHSHN-OoS (4) BOHSIASN SO

96.  Find out the sequence of the major states which hate the highest degree of urbanisation as per

2011 Census.
& Kerala bh.  Maharashtra
¢.  Tamil Nadu d.  Gujarat '

2011 2T D50 19560, ©S88 Frons' HLHAEdn &) DTS TLaTe SHH 1557
wlohoh.

a. S5¢ b. ST
¢ &S d ihzod
(1} b,dec.a (2) b,cda
(¥ acb@ ' (4) ¢.ab,d

97.  Whereis the southernmost civilian Airport located in India ?

(1) Kochi (2) Tuticorin

{3¥ Thiruvananthapuram (4) Port Blair
2r6&T40S’ 08508 B AS) BB ISTTFDOIS?
1 9 (2) ngalTos . |
(3) BSSSodndo 4) 5 ohb .
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98. Match the following ports with the States in which they are located :
List-1 List-11 ST T
(Port Location) (States)
a. Okha i Tamil Nadu
b.  Thalasseri ii.  Kamataka
¢. Ennore ili. Gujarat
d. Panambur iv. Kerala
(Bod DS TS’ LABIOE T TS 2SHES,
aDeor-1 wder - 11 .
(L88pew) (o)
a. &3 i Sanardh
b. Soyd ii. Somes
c. 2amB5 i, o
d. DSourd v, B¢
Correct answer / QDA QAP0 !
a b c d
(0 v G i i
{2y -4 i i v
() ST N B
@ v i i
99.  Consider the following rivers in Ifidié fiom North to South and identify the correct sequence :
a.  Mahi b.  Sabarmati
¢c. Tapi d. .. Luni
(80 DB rE&EE SNoS, dddo Hod Sheo By JOPoS SHD Edos
B804,
a. odr b, Haya
c. B d e
(1) abde, -m/ d,b,ac
(3) ,bid.ac ) dbca
100. ¢ Ehe total road length and Right of way (ROW) of the ORR Hyderabad respectively is :
(1) 158km.and 145m, (2) 152k.m.and 150 m.
(3) 158 k.m. and 150 m. J44) 152 k.m. and 145 m.
wore &.ub.eb S Jndo F 6 LoD B 6 3 (ROW), SSHJ
(1) 158 8.2, SoBakw 145 o, (2) 15282, obako 150 . -
(3) 158 8.20. o8k 150 o, (4) 152830, o850 145 .
C SSI-GS1




101.

The Surma Valley which has reserves of mineral oil is located in ;

(1) Himachal Pradesh . (1) Maharashtra
@~ Assam | (4) Guijarat
5SS sond Bz Boo) Do send) o S'ab fo oo
(1)  rSrsd | 58T (2) IR
(3) o : @) Hhaods
102. ‘*Marble Water Falls’ (Dhuandhar Falls) is connected with which river 7
(1) Banas &) Periyar
(3) Tapti () Namnada
‘3rd)d zordo’ (Goarodlh >rd)) o &
(1 a0 (2) oS
(3) &ja 4) S8S
103. Which of the following is NOT a foot loose industry ?
.H’)/ Cement Industry (2) Cotton Téxtileindustry
(3) Sugar Industry (4) TIron & Stéel Industry
E08 o8S" D& HéSerrS HOED s ? :
(1)  Dosn HBFES () D8 JTo HoES
(3) 588 J8FD #) 2w Sdain &rfoy DB ED
104. Telangana’s decadal population grgwth tate has been continuously declining since ;
Soorrs Do) 372 e aiibde B 2 5720 Hod dSosdor ShHér SN0 ?
(1) 19912001 @f 20012011
(3) 1971-81 (4) 1981-91
105. [If the time at Greenwich (0°) is 8.15 am, what is the local time at 45° East longitude ?
(A DS (02,96 Vo0 ABAHO 8,15 oS, 45° Srdh) ©FT0I0R A HDdaHo
0 &8 ? :
(1) @15 am (2) - 11.00 pm
(3), 9.00am (4) 11.30am
106. The Topographical maps of India is published by :
S TE S HES Arpn i (oo Hoy
(1) NATMO ( GSI
(3) NCERT @) sol
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107.

108.

109.

110.

111.

Kanha National Park belongs to the bio-geographical areas of .0
Tropical Rain Forest (2) Tropical Thom Forest
(3) Tropical Evergreen Forest (4) - Tropical Dry deciduous forest

S BasS by 9 aSiradrraEs |ro=Rl Ho2000000 ?

(1) e&chs STare edyen (2) wchHS Snod edbagen
(3) @oHS HSS oS vdHen A) ©cHS DAY BHOD) edSen

The Teak grows abundantly in the areas of

(1) Western ghats (¥ Assam, Meghalaya
(3) The western Himalayas (4) Central India

B SyFen T Somr 2O |Prowren =

(1) H35 EdaaSnen 2) &30, DIrocdH
(3) DT Farediren (4) ?m{_e.:@ aoddsr

Which of the following is contiguous to Tadoba Andheri Tiger reserve?

(1) Kawal (2) Mannanur

(3) Amrabad (4) Kinnepasahi

1808 TS D6 S8z eoT0 LB D2t 550 HE;HEHHTI IO ?
(1 &35 (2), diSrd

(3) eoSres @ 8T8

Total Fertility Rate (TFR) is highest in(the states of :

(1) Maharashtra, Gujarat (2) Madhya Pradesh, Rajasthan.
(3) Karnataka, Tamilnadu 4" AP, Telangana

Do Homrd's B Bew (TFRY ©d ;oS0 dad) Oare

(1) Sodfora, haos (2) LSHNTIT, oagS

(3) Somy&¥ So¥Erdd (4) oSN, 8vors

India’s top thireedmport items (value) during the financial year 2017 :

(1) Petroléum Products, Electronics, Gems & Jewellery

@77 ‘Gems & Jewellary, Petroleum Products, Machinery

(3) . Petroleum Products, Gems & Jewellery, Electronics

{4) Petroleum Products, Chemicals, Electronics

rESTE%0, 2017 @d¥ HoddySod HHHS TWEY) drd WS Sbdden
(eSS

(1) DS OchHo redyden, JO|FAS,), S8) e HOC edeme.
(2) Smryen SHBCH eBdren, DGO e den, DA,
(3) DSOcHo s yden, dar)en HON BBdearw, JOFIE).
@) SOchHo arebyen, Srcharen, JOFVE) .

i
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112. Which of the following location is significant for renewable energy generation in India 7

(1) Muppandal &) Nellore

(3) Velankanni (4) Guna.

1808 8¢S 26 oAy’ :,ytﬁti)y}c‘fsﬁ #88 S (HTo
(1) swayodd 2) Turd

3) Joodd) 4

113. ‘Hangul’ is a critically endangered species found mainly in the State of

(1) Arunachal Pradesh (2) Jammu & Kashmir

(3) Kerala ¥ Tamil Nadu

wdi0d (DSrSESoT ®08800FD JOPHoS al) 'Toiid “©F zod
Drdomr oFisdhs TR0

(1) odherdd |HET (2) 2509 HOCKISB

(3) Eo¢ 4) ¥

114. Ramgarh, Hutar and North Karanpura related to coal min are'located in the state of :

(1) Odisha (2) Bibar

(3) Jharkhand (49, ‘Chilattisgarh

ES S5 5020000 THHb, uerd Dok aed §55rs fo oo
(1) 24 @ His

(3) &b (@) SRS

115. The number of states at present which fall in the catchment area of Godavari river
(HDS0 Fordd 3O Bl SBaErs @rodos’ o T aFe Hopg Jod ?

Q) & G) 4 @ s
116. Arrange the following iron-ores in descending order of their metal content :

a.  Magnétite b. Limonite

¢. . Haematite d. Siderite

B08 DEYS) 20D FéIod T8 oo B TR v edTire L;;fnmﬁ‘
€500 Jehn.

a. ST b. OIrZhH
c. ereadd d E3S
Select the correct answer /8D AATERO '
(1) abed (2) dach
3) acbd W cabd
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117. Arrange the following areas of India, in the sequence of lower to higher rainfall.
a.  Eastern UP. b. GangaDelta
¢.  Westem U.P. d. Sahyadri
(1) Sahyadri, Ganga Delta, Eastern U.P., Western U.P.
(2) Western U.P., Eastern U.P., Ganga Delta, Sahyadri
(3) Ganga Delta, Eastern U.P., Westem U.P., Sahyadri
(4) Eastern U.P., Ganga Delta, Sahyadri, Western U.P.
1200 HELI) 2388F (omod’ d8yd SfFso Hod ©oE Srdo LoBdod
IEromred S5 S0’ Hbossw.
g  Srd)ads |HBT b. dHor a3y
e DT aSd |1HET d D
(1) JFD, forr Ber, &rdh) ASSNET, H30 SSSHTT.
(2) DT *SSNTE, drdd) aSSHTE, Borrde, DI,
(3) fomr B¢ Srd) aSSHBT, 535 s HET, dtd.
(@) &Srth) adSHBE, forr T, DO, HB e GSHDTA,

118. Which of the following statement/s is/are correct 7
a.  Kamuthi is one of the largest solar power projects located i Tamil Nadu.
b. In India, geothermal power plants are located ifi Manikaran in Uttarakhand and Puga

Valley in Ladakh.

(1) Both*a’&'D’ (2)“ »Neither *a’ nor ‘b’
(3) ‘a’only ) (4) ‘P only

1806 HEdSOS SIS A&/AD.7

a8 SWETE o NS $&) ESID FE Do) 0150 83 DG S |rafod’ w8,
b, rééd¥od 28¢5 5 S 1§ ot adopol SV HASSSE Hbak

©AES'D S S'oH SHTWHOSDASD.
(1) ‘2’ Hdo» ‘b’ Bodysra’ (2) ‘a’ SHOCKW ‘b’ Bodr %)
(3) ‘a’ SreSd (4) ‘b’ IS

119. The number of Urbamagglomerations in India with a population of one million or more as of
2011 census are :

arsadios 2011 z2ar SHo 1H560 20 ofe 2avr (0D S fo e
DT cop)

(1) @83 @y 6l 3) 35 @ sl
1200, Which one of the following Nuclear power station has the highest capacity in India at present ?
(1) Kaiga @7 . Kakrapara
(3) Tarapur (4) Kudankulam
1808 HEN) OSB8I0 N S Solmrod HWS0 SN LediHd
g0 e Boldio 28 ?
(1 3am (2) suBE¥rd
(3) =oyh (4) Srdosodo
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121. Match the following

List -1 List - 11
(Scheme) (Objective)
a. Pradhan Mantri Kaushal Vikas i  Providing requisite skills to poor for
Yojana (PMKVY) managing their institutions.
b. Prime Minister’s Rozgar Yojana ii. To encourage skill development for
(PMRY) youth by providing monetary rewards.
c. Deen Dayal Upadhyaya — Grameen iii. To convert India’s demographic
Kaushalys Yojana (DDGKY) surplus into a demographic dividénd.

d. Aajeevika iv. To provide self — employment fo more
than a million educated \unemployed
youth,

238 DS :

Do -1 v e -l
(HPHESw) (©Fs0)
6 |DErSdold TS DR Arad i | DES08 o0 Hope DS e
(PMKVY) ©50830% Fayersosd §0hb,
b. Derddod S5l GER il S5 advdden £ oo
(PMRY) ainS eSS FeriDSHo0
|8 yaroy,
¢. &HS SoirS aFmrich (rNd il PESTE 2 Dihend, s
iy Jra5(PDGKY) ATobm Srd ye.
d e#DE iv. &8 DOSHS ©LoRBS S
cinsiedSy M eaio drard Eera.
The correct answer is : /2B STl Hlodod :
a b ¢ d

(i iv iii i

(2) iii i iv ]

(3) i i id iv

A v ii i i




122.

123.

]Hl‘

Which of the following statements is/are correct 7

a. India's foreign exchange reserves declined from $7 billion dollars in 1979-80 to just 3600
million dollars in January 1991.

b. In 1979-80, India’s foreign debt was $18 billion dollars and by Margh, 1991 it had risen to
$90 billion dollars.

The correct answer is :

(1) bonly is comrect. {(2) Both aand b are not correct.
(3) Bothaandb are comrect. (4) aonly is correct.

1808 rspies” DO/AD HBIL 7

2 SS 1DHS5y TP SrdE dden 1979-80 S' T DOSHS ol WD 2338,
1991 ~r&38 600 HcHS Tredih HAHUiraw.

b, 1979-80 &' 2r3a854 T2 S0 18 DO arexld ool el 90 HEAHS
ol T80h.

2B HArGrS0 :
(1) b S|SB, (2) aNBANBATIR SN,
(3) a8k bBodr HBSD. (4) aATESED NDAG.

With which of the following programmes, it is intended to increase the production of rice, wheat
and pulses by 10, 8 and 2 million tonnes réspectively by the end of Eleventh Plan ?

(1) National Food Security Missiom, > (2¥ National Mission for Sustainable Agriculture
(3) Bharat Nirman Programme’_ (4) Pradhan Mantri Kisan Sinchayi Yojana

HETOHS 1DV wormdd 36, A HOch HH) Faje aS)BSE SHIT 10, 8
S0805 2 DOAHS 26010 DENDSO FBI% AT ToH2AS HPHEo &7

(1) 2rachH el S BAS 2) FHXS WAS HB IRTS BNEe )5
3) S8 domainddo (@) DT ESNOS S NOTToD B

-

Which of the following services cannot be availed wsing Aadhaar Enabled Payment System
{AEPB’}’Ihmugh the micro-ATMs with Business Correspondents 7

¢ Demand Draft (2) Funds Transfer
(@ Cash Withdrawal (4) Cash Deposit

DATR 5308085 6 &35) D - ATM o o 5o errbd cnids 8o Ao
(AEPS) & 6 33MN0D HHS BODS Hiod' B 2ATrAcchedH Do 57t 7

(1) A&SrosS oD 2) dvo 260
(3) S dddorda (4)  Shco assh

S81-GS1
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Read the following statements :

a.  The National 'Salaple Survey Office (NSSO) is responsible for conduct of large scale
sample surveys. |

b.  The Twenty Point Programme (TPP) initiated in 1975 was restructured in the year 1982,
1986 and 2006.

c.  The NSSO functions with autonomy under overall guidance and supervision of National
Statistical Commission (NSC).

The correct answer is :

(1) aand c only are correct. (2) a, band c are correct,
(3) nmdhun]ymmnﬁt} (4) b and c only are correct.
Bod aripiedd OdS0h

8. DHSSD TodS HT 00 TASS TohS HB;5 esbi (NSSO) ASERL06.

b. 1975 S HAFH0DS 20 woTe HPHEo, 1982, 1986 SHBAKD 20065 0SB0 BAIA.

c. Sold ferose Ea0AdS (National Statistical Commission) SindpsgrOaron Srfdd 8o
Hockn H85IEnd FadS rodd T DM Homands Mo
S garocod.

DB dDArerdo
(1) aS0dak ¢ Sridhad DBSD. (2) a B8 ¢ HJID.
(3)  aSBai) bSPEEh DBS. (4) b BN ¢ ST AT,

Capital issues consist of two parts — shalﬂmd debentures. Read the following statements in this
context :

a Al shu:hnkl:ﬁ do not have any ownership of the company.

b.  All shares ate Flﬂl‘ﬂl}' loaris Which carry fixed interest rate and are non-convertible,

c. Al dth-mmm holdérs do.ndt have any share in the ownership of the company.

d.  All debentures arg merely loans which carry fixed interest rate.

Which of the above staténtents is/are NOT correct ?

(1) aandconly (2) aandbonly

(3) ¢ anddonlf’ (4) b,canddonly’

Sroiaznbs’ Both arren elm séren, ABosBen dotron, S8 H020800
So&arin e e

3l T HOOSET F0AS Jerodd airzsrarR) SO God.

B SEreR) ohr 500 S8 38 Tanes e 59 Siere Srhod’ aod HS G saa*nn
¢ ABoBOMD SONS FS0SG S0RAO AIrsaraod Jerodd arerd SO &odm.
d. &BotBe)o 500 Here Erdos’ @od HEDS 5 edFow.

RTES 0/ HOTPIO TR ?
(1) 200w cSresh (2) 250050 b Sreh
(3) ¢ SBCH d SMED (4) b, cHOAD d SMedd
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Match the following :
List -1
(Economic Policy)
a. The new Indian Bankruptcy Code

| 1

Y
List - 11,
(Aim)
Improving the perfmmgﬂcc of Public

(IBC) | Sector Banks
b. A large recapitalization package ii. To help corporates to clean up their
balance sheets and reduce their
debts.
¢. Demonetisation and GST iii. To strengthen the balance sheets of
Public Sector Banks.
d. Indradhanush iv. A noteworthy increase in the number
of tax filers.
2SHGBAW ;
wder-1 Do -dl
(@8% Do) (oo .
a rOBOD TSSOV s i (HEbe 80k rdhoBRsshs’
(IBC) HHSO O,

b. &HeDBAas Es i.

888 0005 o8 e,
HES ey, Dred déhdod

DITrsSo.
¢ AIrTREIS Ok SR i,  4OdbdgSol wrjohe el oo
VIO D) SPios a8 bao Javdo.
d. 20\ SHT ivem B0 JDoHo e Hogysk
' HEaR AL D&
The correct answer is : / A0S HEPER) H0otoh :
a b g d
(1) i iii iv i
@) i i iv i
(3) i iv j iii
4) i ii i iv
128. Which of the following industries is/are NOT an agro-based industry 7
a.  Texile Industry b.  Sugar Industry
¢. Papes Industry d.  Automobile Industry
Théeorrect answer is
(T d only (2) conly
{3) . Both aand b only (¥ Both ¢ and d only
B%S BODS HOFOS DO/ SgSFAErroS HO¥S % 7
a. SN DO b, Dodard HOF
c. DHBEIOED d &8ss HdFD
DA MLAPTN0
() damedsd (2) cSridhabd
(3)  adciny b SMSED (4) ¢ SOcndSresD
C SSI-GS1 41
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130,

131.

132.

i1

The Reserve Bank of India set-up a Committee headed by Y.H. Malegam to study and advise on ;
{1}  Self Help Groups and Banking Linkages

(2} Micro Finance Sector

(3) Pradhan Mantri Jan Dhan Yojana.

" Jan Dhan, Aadhaar and Mobile.

AHS BODS 8BS T HBoD BBicHdo ThH Hrdden SITRE, oS oaby
2r50%0 Y. H. Sr8mro eodE 83 o8 DD dahuodod 7

(1) D50 DI CALE wYoTreD - 2 0H GO,

(2) ArEIH558 Soio.

(3)  |1DGFSH0E 20 &S Trad.

4) =588 agrdIngd.

Which of the following studies stated that, 53.3 per cent of India's population ile., (64.2 crore
people} are suffering from multidimensional poverty 7

(1) Tendulkar Committee Report - 2009 (2) Rangarajan Committee Report- 2014

(3}  Planning Commissicn Report - 1998 (4) Human Development Report - 2016

TESBE arards 533 Teo (642 F& HH0d) IVEErHY DEBE0 (multidimensional
poverty) & 2t 80 61O S8S’ 2 edichdo 8QabHODCS ?
(1) DodropBind dT3o5-2000 (2) Sodoas M3t - 2014
(3) P Ddosvo DIOE - 1998 (4) Srdsd @dI)@ NFOE - 2016

Which one of the following industries is not exempted frém the compulsory licencing 7

(1) Glass Industry (2) PagenIndustry

(3) Paint and Allied Products &y Cigarette Industry

S085BDDS HOFHOS D HHFD S50 8 SR 00 od DdFoavodSadSn ?
(1) TR/rae H01HD (2) sheb HOE

(3) owodS SHBCkN wdnod SEHen () B HoIED
Assertion (A) : SAMADHAN scheme’ismeant for one time settiement of dues of small scale sick
industrial units.
Reason (R) : Sick units are reqired to make one time payment including interest not more than
double ofthe loan@mount.

Choose the cormrect answer :

(1) (A) is true, but (R} 18 false.

(2)  (A) is false, but (R)is true.

Both (A) and(R) are true and (R) is the correct explanation of (A).

(4)  Both (A) and (R) are true, but (R) is not correct explanation of (A). .

DBISANA) ¢ TOFVE DS HDS DY) S5 FOEFDE AP
Lrod/asroneod 5 Jwdor H8H 0% HooHodSH
SAMADHAN Hé%0. '

OO (R): JroFE HfS%H SHowd H0FNen a8 DHTod edwdrtn
5@ Bododos Nodsoa 230 TDod.

RO AdrerrR) hlodod

(1) (A)RABAE, (R) QBAS s,

(2)  (A)ABSH &, (R) 2SS,

(3)  (A)s0Baiw (R) Dodr S A0, S8 (R), (A) %0 HOTd DS%e.

(4)  (A) 00w (R) Bodr Sur@ MDA, @on@ (R), (A) 5o DO Desties 5.

551-GS1
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136,

The President of India doesn’t have which one of the following veto powers 7

(I) _ Suspensive veto (2) Pocket veto
Absolute veto (4) Qualified veto
1808 DS’ 8 o PHAL T NS BOTEIL DA 2
(1) =&0% dddo & 2) Zad &
(3) AEHE S wdsBaw 4) oisodEras 8 vosrsdsn

During which Lok Sabha's tenure the tradition of giving the post of Deputy Speaker 16 the
nominee of opposition began 7
(1) 11® Lok Sabha 12* Lok Sabha (3) 9" Lok Sabha (4) 10® Lok'Sabha

BO/THB DO 1H8HE ¢ 508 3T JoPordhay, BoSTIO B0& O3S O
&S558 swod' ?

(1) 113SEHF (2) 12385818 (3) gaﬁ‘smﬁ AFNI0S &' 538

Which one of the following statements is trug with regard to the office of the Governor 7

(1) It is subordinate to the Union Government.

(2) Govemor’s salary is fixed by Union Home Minister;

(3) The constitution under Article 157 prescribes only twi qualifications.

(4) It is an employment under the Government of Tndia.

AS8)0 HADE JoodHod (Sod HELSOS HETSS ;

(1) Bold Hdhé s eaddius arodnob,

(2) B38)5 A0 Sold D P oS AFonoied.

(3) orzrsollnds'd 157.?6 EML‘-@:: 8558530 HANE Fdodw Bo edsod
S Te T VT VR

4) ToS1HZhe san @O .8 aSisw.

Which one of followifg type of legislation can be made without the prior sanction or
recommendation of the President 7

(1) A bill whiclivaries the definition of Agricultural income.

(2) A bill'which affects the freedom of trade of commerce with other countries.

(3) gAlteration of boundaries of an existing state.

@A bill which is money bill.

Lgoamé'hwagmas OlAN8 WoSY) wHd B AJSH) Bhom
D55 365 ?

(1) Sgeddrdh ecrdd A sidsnd’ Sréh) 8 ) D,

() =388 Brod 368 sdaitned 1Herdssn Tho.

(3) oD AErad) HOTR O SrS S,

4 ofsDor dendsad DHe. -

SSI-GS1
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138.

139.

140.

Consider the following statements with regard to the State Leglslatur:
"i""l An ordinary bill can originate in any of the Houses.
Legislative Council can delay ordinary bill only fcrapmodﬂfﬂlrae rmlﬂtsmﬂ'le first instance.
iii. Legislative Council in the second instance can hold ordinary bill for ﬁﬂﬁﬂl days
iv. Legislative Council can only delay a money bill for twenty days.
T4 300 THE0 Ho20HoD (B0d 1HELS e HbKdosy .
i e DN & JPS T IHBF DS I,
i, B0 TS wodd e DN Sureth Foo SS5 sodidn DTabso i, &
iii. BOSArd TS Hosd) Arordes DHend HATID Earer 3550 eserd 51 TS ENeD.
iv. 308 OGO rerde HEwd 2GS Fare) SO BN TALITD IR,
Choose the comrect answer among the following :
208 S HBTS 22050 AFDoHyEY -
W7 G iv () i&ii (3) i, ii & ii @) i, iv
Choose the correct statements from the following :
i.  Lord Morley was Secretary of State for India in British Governinent.
ii. Lord Minto was Governor General of India. -
iti. Lord Morley was Governor General of India.
iv. Lord Minto was secretary of state for India in British Gm:nunent
808 TS’ HOTDS 1HELSen DD ?
i, el 3D, 1D 1K S 08" rdS TEHDIDIWD.
ii. erf Wod 7de 15816 BSES .
iii. el 3P, 278 53818 2588 &) &.
iv. erd o 1NN 1HHSFoS erde orag HDGH.

() i&ii () iii &v 3) i&iv m/iismr

Which one of the following Was not a part of Reserved subjects in the Govt. of India Act of 1919 ?
(1) Land Revenue (ﬁ( Administration of Justice

OF Local Self @ovérnment (4) Police

1919 3756 (AZes S SSneS’ 02655 wofdned' B DAcHI 08 7

(D 2ra T (2) &yod arod

(3)  FIEJ500TOS HpSn 1) O

Which Amendment of Indian constitution implicitly says that fundamental rights are amendable
under the procedure laid down in Article 368 7

(1) 29% 2y 42 (3) 25* (4) 24%

2 oergoll D380 ©HESodn 368 S FodhddNS S |FEHEWE Ted
RSB0 IR ArDIM/HEE o THISE 7

(1) 2938 (2) 4238 (3) 2538 @) 2436

SSI-(51
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Who among the follcrmng is authorized to decide the applmahultty of any Particular Act of
Parliament to a Scheduled Area ?

Union Tribal Affairs Minster (2) Prime Minister
(3) President (4) Govemnor
1808 3OS J508 2.8 (HEs8 FEFoS Shaw NdrS romod SON0o Bor ed
AFonoth BTG5S Lerdd ?
(1) Fol& MBS T S5 o0 T Sold

(2) WSS
() o
(4) ° 85835
Match the following :
List-I (Committee) List-I (Recommendation)
a.  Balwant Rai Mehta i. Zilla Parishad should be executive body
b.  Ashok Mehta i. Nyaya Panchayats
¢. K. Santhanam iii.  Zilla Parishad should be advisory body
d. L.M. Singhvi iv.  Panchayati Raj Fipsince Corporation
2858CHhaSwn
aDer-1 (¥D0e8) ar Do 11 BDF55)
. DOOSC DS i 265 HBAE B TE H0D
b. 7 Drs i mrjohSomraneen
€. B R0oma0 iii. 2VOID HOI* HoY
d 8IS hodus iv. “Botnd o DS) SEIBAS

The correct answer is : AOQS HRFERI0
a b ¢ d

S - i i iv i
2 i iii  iv _i
3 i i wl/ i

(4) i i i v

Which constitutional amendment conferred constitutional status on the National Commission for
‘Ea,?vm'd classes 7
102 (2) 103" (3 100t (4) 101%

1806 &3S’ D orarjoll H58 (D5 do a‘édi; FoEaAS ddree ENHSE ool
Ao S0t ?

(1 102% (2) 1033 (3) 1003 (4) 101

Which Article of Indian constitution provides for making any special provision for women and
children ?

Tolisne R D ©diSnsn DYoo Hoch ook (HEE  SHHow
58008 Inenarty $0x0od ?

1) 15(2) @) 15(1) 3) 1503) @ 154)
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145. Which of the following: isfare the objective(s) of Ministry of Skill Development and

146.

147.

148.

Entreprencurship (MSDPE) ?
a.  To fulfil the vision of Skill India Programme
b.  To maintain supply-side skilled labour force statistics
c.  Tofill the gap between demand and supply of skilled manpower
The correct answer is :
(1) b andconly are correct. (2) aandc only are correct.
a, b and ¢ are correct. (4) aand b only are correct.
1808 TS DA/ BHyers ©DHIHE HHbaky SgSTHES So|BSmy (Ministry'of Skill
Development and Entrepreneurship (MSDE) &% jo/0 5 e ?
a.  Skill India HSEN oS NES (vision) o 330 Db,
b.  HID FHSH Jo20H0d Fssolie rans 48 ferosod Ao,
¢,  Da3eafo fe |7E 38 Aoirofi-ondhe ¢ a0l @odsTR) AREohH.
DA RGN0 ¢

(1) bSO ¢ ST S DDA (2) a8ck0 c SFSTHABID
(3) a,baNBA ¢ HDSD (4) aS8chin bair(SEh HBID
In the Constituent Assembly, the ‘Objectives Resolution’ wits passed on :

(1) 24® January, 1947 (2) 25" January, 1947

(3) 26" January, 1947 (4) 22 JaRuary, 1947
‘AN BOYIIN' Trargolf SHHPS QDI B3roodwAIS ?

(1) 2423550, 1947 @) ) 25 2550, 1947

(3) 2628338, 1947 (4) 222550, 1947

Which of these two following Vice Presidents acted as officiating Presidents of India 7
(1) K.R.Narayanan & Krishaa_ Kant (2) B.D. Jaui & R. Venkatraman

A3 S. Radhakrishnan & V.V, Giri (4) V.V.Giri & B.D. Jatti
208 0S5 D 2@ AH O RdSe Bred ) OF o DS S5SLroDTE ?
(1) BebsodidkSHusod 2) DA 24 & &b JofLoHS
(3) N oTiiad &2.D.n0 4 D.00&DH. =8

Which oneof the following statement is gorrect with regard to parliamentary committees ?
(1) _The members of the Estimates Committees are elected by Lok Shabha.

(2)@n Public Accounts Committee consists of 30 members.

(39 ) Committee on Empowerment of women is a departmentally related committee.

{4) Committee on Home affairs is a Joint Parliamentary Committee.

FEDoed §dess 5020800 1808 TS HOTN 1HELS A 7

() ®odare E¢d 5050 S'EHL HZDjen D01 TTSK.

Q) 1D SPe K8 H3hge Jowps SwR).

(3) D¢ IHES, E08 Do Howodé rodolf s,

(4) S T Spssrore a0, Hoding rdoerd S,
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From among the following, which Committee’s renmunendath:-na ‘were -accepted by RBI to
switch to consumer prices from wholesale prices in setting its inflation target and making

monetary policy 7
(1) Y.V.Reddy Committes (2} Bimal Jalan Committee
,(.31/ Raghuram Rajan Committee (4) Usgit Patel Committee

155858 DS Sy Ko d' |88 et ©f s (inflation target) ATFRE &% S (wholesalé
prices) oS DIT/rd I Hden AHTFACTOR & fod FAS D g:a:ai oS
mardand RBI @cfiZdodod ? J

(1) .D.88 508 2) DS zerS s
(3) Siworo oS e @) &S HDHS 10ed

Assertion (A) : Workers — population ratio in India is low inycoftrast to that in developed
countries.

Reason (R) : Rapid growth of population, low female worker population rate and omission of
unpaid family workers lead to low worker-population ratio.

Choose the comect answer :

(1)  (A) is true, but (R) is false.

(2) (A)is false, but (R) is true,

(3) Both (A) and (R) are true, but (R) is not a correct exp]a:mtiﬁn of (A).
(&Y~ Both (A) and (R) are trife, add (R) is the correct explanation of (A).

DADES (A) : ©DIID TobS Bros O 15H% arésdiod’ (T - aaar
DA’ SEIS,

DE0O0 (R) : @arsS Anad 30, aarerd’ Llre e Sen S Soddo,
ey W00 TR fgrdol |[FRnived B8,0058 BTSS0S0,
[FRbSoen - g AR08 $hded rdoths.

A0S wargErR) dodod

(1) (A)DBIS, =m (R) DI S,

2) (A) HVIS £, ST (R) HBJA.

(3) (A)Dadn (R) Bodr Sror 205D, 520 (R), (A) S0 H6GDS D508 s=th.
(4)  (A) O (R) Bodr §rar HBHD, HHOA (R), (A) & HOT S8es.

SS1-GS1
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The important geograplviesiivisions in India are

(1) Himalayas and Deserts

{21 29 States only

(3)  Himalayas, Ganga<Sindhu River Plain, Coastal Areas, Peninsular Plateau, Deserts and Islands.
(4)  Forests, Rivers, Mountains and Sea coasts

r88FHosS 1D oTHE Dafasden :

(1) rSrodiren HB8AD Jarhen

(2) 29 OraFen Srigad

3) DETeciren, Hor-DO&TIS Do, At S5, A8ros e,
28 |00 HHBainy Hfen.

@)  edden, Scew, HOsEren HOGD HivEaoen.

‘152, Which of the following is the key factor in social studies 7*

153,

154,

7 Forests (2) Technical problerfs

(3) Development in Medical Sciences  (4) Population

ot FRoS Ter oiPS wodo (80d IB8S 6 7/

(1) oy (2) roiaE SSoHgen
(3) BT RIS ©DIYO (4) ¢ ey

The formation of separate Telangana state was the result of Telangana people’s long fight to get the
following : '

(¥~ Water, Resources, Jobs (2) Education, Employment, Independence

(3) Respect, Huge Wealth, Influgnce (4) Reservations, Jobs, Bank loans

& (808 8" HAD Foth e TEs Bvomsr 1Pz FS DAY Fowre HdDdom
@58 SO0me U a0 0)BSD ?

(1) A%, Do, Namds e, (2) DSg A, Arsdbolsssn.

(3) MB350, PO Do, DenHHrad. (4) 82850, &S mren, 2rjod S,

The maindeason for “Globalization™ is

(1) @Gap between the rich and the poor  (2) Political parties

(3) " Message-oriented filins JA47 Fast growing technological knowledge
HODoDESE 1HEAD” 0 (DHEFS 5SS :

(1) S%ve SH8dhn D08 L &d) soddio

@) oa28ch>fen

(3) SoSwds dASre

(4) Jor @DIHP ToHdd) ot HaFS0
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157.

158.

What is the name of the system, davclnpedbyﬂmhaldﬂandlﬂnndlphn&nldﬂ that seeks to
ﬂmmmm&wmﬂcﬂm“mmmmdmmﬁmmuf
mental and emotional behaviour 7

(1) The power of positive thinking (2) Stress-reduction programme

(3) Perspectives on personality (4) Heum—ngu:sm programming

Sr50aDh SIS HOCH HYSoSTN 2ard (HH%e THo, Srdhd HO ST 58
D30 HEHOS” JHOTS GIMIFSD E:e.:mﬁ‘ Doty §Ho' 68 argobob
SHBOKD 27 NOAS DOToHODS VPD TInEy, DX el ?

(1) Fosreo eSS 8 (2) S84 SNoT s&p 80

(3) 338550 GIng) SpF e (@) &l Oongys I mol

Read the following statements

a.  Adults cannot develop emotional intelligence.

b.  Emotional intelligence can be learnt and developed.

¢.  Adolescents cannot acquire emotional intelligence.

d.  Emotional intelligence is broader than 1Q).

Which of the above statements are correct 7

(1) aandc (2) candd (3) aandb (4) ' bandd

& 808 T Ipio DOHS0h ¢

a.  STraden rSTE N 109 (WRrASS 2080258)85)4 WodrodochESh.

b ST 1D eRhodN) DorodochS Sy,

c. PSTLHIDED aind Scbhozen rdHodBh.

d. .80 ST arStTigl 195g S0 DA,

28 A0S oS 2D HOTHSD ?

(1) abcive (2) c-obddind (3) aHddb (4) bddlnd

“An average level of Intelligence Quotient (1Q) and high level of Emotional Intelligence is a
formula for personal success™. Who propased this 7

(1) William Bell (2) Thurston (3) Peter James (4) Daniel Goleman

“2,8 558 Dacrds DT of Q) 8t (orda) arond, STl 198 D) (@S S)

Frond’ domrod ArEedl” () S 1HarSoord ?

(1 Do BS (2) &8N

(3) HebED) @) BdaHS FSIrS

Read the following statements :

(a) Ihaabihtytﬂmmgnuenncsmfulmgsmdthmofnthm

(b)  The inability to understand abstract concepts.

(¢) Theability to understand mathematical formulas.

(d) . The inability to understand technology.

Which of the above statement(s) is/are related to having ‘Emotional Intelligence’ ?

(1) “(2)and (d) (2) (d)only (3) (a)only (4) (b)and(c)
1800 Ty SO0 :

(a) 5% Rich rddoh, addhe erdded Hdod s 5O aodbo.

1) Brd5)d rIdeH BITITS THEFB dngs.

(€) HeBed Ariererd @sSmars TansHOn araudes.

(d) AroBaldSH elmirsS TEE edHds.

28 BH2AS riped’ DO/ ST i 103 §8 d0derds Ho20H0NSE 7
(1) (a)0ciw(d) 2) @SrSh () (a) A& (4) (b) 00w (c)

SSI-GS1 9



159. Which one of the following skills is important for a satisfactory personal and professional life ?

¥1)  Professional skilis’ (2) Technical skills

(3} Educational skills (4) Social skills

DOS JEES 358K B 598 AS0E 1808 Bongdnods & ©55880 7
(1) S98 Byeagen (2) VoA Jyeagin

(3) Doy Sayeagaaw (4) roans St

160. Read the following statements :
A Personal values define our character,
b.  To love and to be loved is a basic need for humans.
c.  The value system would mvcrhtlppmphhb&ﬁumﬁsﬁll.
d.  With spiritual values, we love the entire human race and care for thef.
Which of the above statement(s) is / are correct ? ’
(1) acandd . (2) bandc (3) aandc (4 abandd
& 1808 oo 385504,
a. 5g8res Denden S Tk, SileEriny dawaram, _
b. (RoTitro SHOA R0 GEEN BRIETEHY [DrPE ®SHG8D.
c. dende 3559 OO I3y HEr §rdh S008I DBAHI0SID BIErDE AHTINISD.
d. egrialé dende) IO DS FNBo TS el Havod &8 arffihe Hiod

vl AVERTR T NSV

208 THyaAS Fimieds DALID2SEL ?

(1) & cHOADd @) bSBave
(3) asdd@cdiwe {(4) a beobcdind

161. Which of the following eomes under professional ethics ?

(1) Always supporting the employer only.

(2)  Always supporting the co-workers only.

(3) Giving much importance to personal benefits.
-JA']/ Having a sense of commitment to the job.

8 (500 T3S DO 398 S8 B0 Sod ?
(1) CDBIIVE JRPIEF DPS NS $B0 SM S,
2) S8 a8iHhod Sor DS DS sdo SrSb.
3) Ngerarol D503 Ererdd @ 0.

4) GOS0 HL dadé 58 aoddo.
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162. What is the difference between sympathy and empathy ?
‘ga/ E}mpath}r means fﬂlmgs of pity and sorrow for other’s mlsformm Empathy means the

(2)
(3)
C))

RO

ability to understand and share the feelings of another.
Sympathy is a verb and Empathy is a conjunction.
Sympathy is positive whereas Empathy is negative,

Sympathy means the ability to understand and share the feelings of another; Empathy
means feelings of pity and sorrow for other’s misfortune.

a8 HOdiy HTrs ad) Ear 20 ?

(1

@
(3)
(4)

Teirs oot J0 T¥) TnE) SSHRTAY CIrR Gab, 2O Srdeo, HTigire
ot 88 78 rard) T8 SpaFo Hod Srd efo TeNeo.

Freodire (Sah SO DoRHETE DNt oW,
reZirs @SrODSG; JTWHEFS |DBETOTSH.

Trebdire woh 8T 2rad) 50 Sia Foo dod ol efo TFnt'seo;
DTRLErS ot IVare) SSHFTR) SR SO, 28 Sahén.

163. In our traditional family system, sons are preferred over daughtess by fnany people because of one
of the following reasons :

164.

2)
3)
)

Dowry might have to be given to daughters.
Daughters pave the way to heaven.

It is a government policy.

Sons are handsome than daughters.

& 208 78S D TEniwe I63 FOHTOH Htwon Si8PS eSrjono¥od

@700 8 57T 8 JHSNHOE R oLrS ?

(1)
(2)
3)
(4)

Srdudiyf SSEeryen 2 38 SV0S.
Srdoth, HIT0E Srrena .
(22D s DTN SEROm

FioSoe Sré s odom rodrda.

‘Vertical Social Mobility" refers to
3~ an agitation against caste system

(2)
3)
(4)

‘RS ALS TndOEY o

(1)
(2)

(3)

4)

thié movement of an individual or people or groups ffom one status to another
people’s migration
conversion of religions

Soer S5 Siadior Sforerdw

3558, 2050 Doy HArTen 2.8 3o od LTS oo Srédo
D23y B3k Sevden

Soéh Sro)d

S81-GS1
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165.

The Untouchability (Offences) Act, 1955 was renamed as “The Protection of Civil Rights Act™ in
which year ? J

®d)yiE Darde S0, 1955 & “Brddrio) e Kzodiﬁ S R0 SrobS
0568 3850 D8 7

(1) 1966 W2y 1976

"~ (3) 1967 (4) 1956

166.

167.

Who among the following Greek Philosophers considered ethics a practical rather than a‘theoretical
subject 7

(1) Aristotle (2) Epicurus

(3) Pleny (4) Socrates

& 18500 A% Foowod 5% BEE DO DFToSHEDSO rrﬁam:r
[OTBTed  H R0 e G erRoird 7 *

(1) wdygeadd (20 DB SR
3 aw @) g

The name of the Act, introducedf0.check atrocities against SCs and STs :

(1)  SC & ST Communities Aet, 1962

(2)  Prevention of Atrbeities Act, 2000 |

M Scheduled Caéfes and Scheduled Tribes (Prevention of Atrocities) Act, 1989,
(4)  Protestion of SCs and STs Act, 1950

SCRN wOCED STE) 21 FPS;500/880 S3RTE0M DI FDODABS L5850 D
(1) QRN N0 JR.65. ESredR S9&o, 1962

@) DIV 8D JErDesD BS¢o, 2000

@) REG ) 008 NATIG (DB (DIFS 6 Aerhedd) o, 1989
@) |TrOES 8 JR.0. & SO J0.8. © &0, 1950.

SSI-GS1
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169.

170,

Read the following statements : 4

a.  Article 15 of Indian Constitution provides equal rights and npp-ocmmme:s to all the citizens
without any discrimination,

bes  Under Article 91(6), the tribals can own property and enjoy it in any part of the country.

¢.  Reservation in employment is made for the tribals under Article 61(4), 230(5) and 353,

d.  Article 338 empowers the President of India to appoint 8 Commissioner to look after the
tribal welfare activities.

Which of the above statement(s) are correct 7

(1) bandconly —(.1}/ b, ¢ and d only

(3) & bandconly (4) aanddonly

& 800 i SdS0dh

2. 2 DS5ES Eom DHeo0Hddd rdd oerolosSD ufES 15 JHIFS Sdoyew,
BIFTT O OO,

b. ofi8 916 K580, sdTher THoSD O PKoSTHF NN TISD),
[ENAEA T I IR VRY

c. ©RES 61(4) 230(5), 353 1P ¥o vaAThok afiiods’ 8aB M asE ow.

d oS 338 (N80, vAOTHO HORLH TEHIEEN MHSITLodant i
o R8s 2.8 £0A555 AdhuoT ebsto ol

2 éredy oS’ D HBSD ?

(1) bSO ¢ S (2) b, c 0050 d Aneh

(3) & bSodcine Sredh (4)s, @080y d Sr&H

LthnwofﬁeSCsmnﬂahlemmnktmnfﬂwmmnmﬂpmmmguWMdmmﬁn
because they are still ;

(1) not part of voters’ list (2) the believers of fate
illiterate and ignorant (4) live in forests or hill stations
DN, e TerNod ;08 GEiloko I BD IS JV0LSen dHTrAo FNto B,
A8 580
(1) Lo ardes BErsso. (2) D8 VFToER SSnISTTS.
(3) DS godnen, whpdo. (4) ©335 Fod BBmes aodero Ied.

Reservations &8 pef 73" and 74® Constitutional Amendment have facilitated
(1) Womenentering Gram Panchayats and Municipalities.
(2) _Ingrease in the number of women in Industrial mtﬂr
(3}, " Increase in the number of Dalit women writers.
Increase in women’s literacy rate.
20 Trariofi TRS 73, 74 HS8m0 oo, 020 1050 Hor & 130d T8S' DO
AP 00SE ?
(1) r Hotransey, HETrol Hodred Qe (HF2o0seo0.
(2) FOTRE Soo R JopsS' HiDd.
(3) 08 |D Stonde Homs SKESD.
(1) R © ©iods Bend' RDHHS.

SSI-GS1
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172,

173.

Who among the t‘ulluwmg tribes in Telangana celebrates the festival of Theej 7

Banjaras ' (2) Koyas
(3) Gonds (4) Kolams
Boomrond' D Abad 8o 8 Hohid 2HHToHE 7
(1) ozow (2) Fabhew
(3) Rodoen (4) Swow

During the period of Burgula Ramakrishna Rao as Chief Minister, 2 judicial inquiry,Svas
instituted by the government to examine the Implunmmmn of Mulki rules. Who amiong the
following conducted the enquiry 7

(1) O.Chinnappa Reddy (2) Pingali Jaganmohan Reddy

(3) O.Pulla Reddy (4) K.V.Ranga Reddy

arhe CHEN TN Supiooldr &d) seod Swdi INDosSe e
BESS0S'D DCHITOD 1D 0 2.8 THAH DTS 28O0, & (B0 08’ @
PSR BOAIE il 7

(1) 290808 (2) Doi® 2885 8o

() L. (4) 3.2.500700

Assertion (A) : The people of Andhra region (started “Jai Andhra Movement” as they thought
Mulki rules were against them.

Reason (R)  : In 1972 the Supreme Cobrt upheld the Mulki rules as constitutional.

The correct answer is :

(1)  (A)is true but (R) is false.

27 (A)is false but (R) il

(3) Both (A)and (R} sredtrue and (R) is the correct explanation of (A).

(4) Both (A) arld{R) are true but (R) is not the correct explanation of (A).

(DAIES (A) : 0|8 [rosoS 1Haen Jndy Jaodiden ma;ﬂﬁgﬁw “B
B0 ASEArR)” IrSodord.

somo\ (R) : 1972 & odo ¥ SO, duodden orarjoindor HEDS
ESood.

DO JSrma) ons Tabod:

(1) (A) Qasalw, SR (R) S

(2)  (A) &), SR, (R) Qdesaw.

3)  (A) B (R) Bodr Dzzdw, o800 (R) (A) 50 56T DS6.

(4) (A) DHBCH0 (R) Bodr dzsdw, 5 (R) 5o (A) SO NS =,

SSI-GS1
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175.

176.

The Parakala massacre that occurred on 2™ September 1947 is .often. said to be another
Jalliapwala Bagh incident. What was the aim of the protestors at Parakala ?

dl)'? To hoist the National Flag.

)y To boycott the foreign cloth.

(3) To protest against the Nizam,

(4) To protest against the British dominance,

1947 Tgoat 2 5 B8 2008 Jre SrdaFo 200HS Fererh adodos

e dhod. HiTe drddisrthe Frabiban 7
(1) 2ach Sersd) edH)8oddo. (2) TP nen 2000380580
(3) Qzro o $;808s Sodo. (4) DT eddHEIR) AdhoBSo)

Who among the following gave the features of the Telangana Thalli Statue ? _
(¥~ B. Venkataramana Chari (2) Yekka Yadagiri Rao

(3) Goreti Venkanna (4) K.V.Ramana Chari

& 1808 78S ‘Boorre S8 HSDE SraBrned ad10Fs%?

() D 3okb Sderod (2) Q5 ASrSHB.TE

(3) D8 3ods) (4) B.2.S%srard

Match the following folk songs with those who sang them,
List ~ I (Songs) List—II (Singer)
a. Amma Telangana, Podusthuna Poddu i Abhinaya Srinivas

meeda |
b. Nageti Sallalla Na Telangana \ii. Nandini Sidda Reddy

¢. Jai Kottu Telangana iii. Gaddar
d. Osmania Campus lo( Udayinchina iv. Pasunuri Ravinder
Kiranama
1808 2 dHE SrLHOMMEID SD0DS Saen/mabiverdy 85080,
D .1 (Hdirex) Do - 11 (raBody)

@) BOOMTE D) P DS i @dIcH WD
i3 o & Bvorn ii. oA DT3P

. BT BOOTe iii. M6
ARG S0 RPN AdanodS iv. DA 5Hoss
&S

The correct answer is : BT NAPETSO
a b ¢ d
O i i v

i
2y i v i i
i
i

S

3y i v i
(4) v (T 11




177.

178.

179,

L TION 3

During the Telangana peasants armed struggle, the communists, in order to motivate the people
and to improve the political understanding, started recruiting willing youth. What was the name
of this youth force ? -
(1) Guerilla Armed Squads (2) Free Will Contingents.
(3) Destruction Contingents (4) Self Protection Squads
SBoorn BE doind Fowod rhe Hzed oafdd elmrdd, dRlo I
BE0oBTRE STAPEN ANSHOD JoeS DS, S cing 8 KoPH DR
DS 7

#

(1) Ao o ysb) 2) 1525 0830B0d5)

(3) dxr¥o TD Sot3oBod) @) 30D S5y s8)

Match the following places in Telangana with the traditional products in those places”
List - I (Place) List — I (Products)

a.  Siddipet i.  Khaddar

b. Konitla ii. Pearls Boring

c: Ehmda.mp:ta iit. Gollabhama Sarees

d. Metl:ﬁlil iv. Paper Making

B0orRd'D 1200 [DroErod 83 )8 FoRDEoDE et d BedH S,
aDew - 1 (Dr0d0) hHer - 11 (& yien)

a oL i, Eb

b. SH& i, SEresidoicren Sciudd
c. todo Bd i, g Dden

d DA IO iv. ‘2ido Scird

The correct answer is : cOOTRS GSFERI0 :
a b c d

() §iooiv i i

(2 i iv i1

3 i v iil/d

) iv i Qe i

Which of the following was the main aim of the Sw

(1) Todo Satyagraha protest when the Parliament session was taking place.

(2) ¢Tomarch to the house of the Chief Minister in Hyderabad.

(3)% To march to Jantar Mantar in Delhi.

(4) Toadttack Assembly Hall in public gardens.

D55 clireh DS &P A7

(1) FéDMoen HSrdzen 2HMED) JDADOS HErYHET S0 m;::r-m:&m
(2) TPECrSHSD SopiHols ATt dirsmr 3€ko.

3) A S 0S5 088 $H% I¥0.

@) HDErRSISD wod) 370 Jnd Tohdo.
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180. Who among the following was the Chairperson of the Congress Core Committee which resolved

181.

182.

#7 AR

to divide Andhra Pradesh ?
Sonia Gandhi (2) P.Chidambaram
(3) Pranab Mukherjee (4) Manmohan Singh

SO|SINTE o) IFBoITRE BoR0DS so|in ¥6 EndE & @os o
e Hen D 7

(1) &I rod : (2) 2. OSoado

(3) oS Supd @) I3>8 ok

Assertion (A) : The Mulki regulations were openly violated after the accession of Hyderabad State
into Indian Union in 1948,
Reason (R)  : Many employees belonging to civil and police administration were brought to
Hyderabad State from other states in the name of improving the law and order situation.
The correct answer is :
(1)  (A) is true but (R) is false.
(2) (A)is false but (R) is true,
(3) Both (A) and (R) are true and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true but (R) is not the corrett explanation of (A).
DEIES (A) : 1948 & ;ST rESEI0S DOSTS HAH J0d), Doodsod
2ardoliomr aosuoddo BHBACAH.
800 (R) : DS, O rpoh Bobd BT aSihed 1H8) olaFe Hod a8
708 F|S5Se0 DOMOBOD DHE SER TwdS.
QBT Ddrerado
(1)  (A)Qz2dw, 5 (R) 3.
(2) (A)S33359, (R) Nz,
(3) (A) 80D (R) BOM® Dazadw, SHOA (R) (A) Ho HOTed DaSSen.
(4) (A) B (R) Bodr 250 5 (R) 50 (A) SO DS 52,

Arrange the following agitations in the sequence of their occurrence.

a.  Million March b.  Sansad Yatra
c. Palle Palle Pattala Paiki d. Sadak Bandh
S508 Fortred e 8008 15508 S 08,

a  OMDS Sr0) b.  HOHG cire
. I HB HEr D8 d. HAE 220086
(1) «¢adb () b,cd,a

3) ad,cb @) d,cb,a

SSI-GS1




183. S. Jaipal Reddy as a student leader in 1968 led an agitation of Osmania University Students —

against the Chief Minister on the issue of the Vice Chancellor’s (V.C.) appointment. Who at that
time was the V.C. of Osmania University ?

(1) D.S.Reddy (2) P.M. Reddy

(3) Ravada Satyanarayana (4) Pinnamaneni Narasimha Rao

1968 H058)508° Do TAHRAT 0. B> S 3G AN ArdS0 )8 daPeos’
@H)8 Supio|as Siadsor I T AchDTVE H020HONN Ao
A SISTR) SAIE. b )88 GIMACHT D DT EOAN0 .. DD ?

(1) &% 0f (2) ®.0.08

(3) O dégTrole 4) DI IOSFOTFT Y

The Government of India formed the States Reorganisation Commission{SRC) in December
1953. Who among the following was not connected with the commission™@,

(1) Justice Bhargava (2) Saiyid Fazal Ali

(3) HN.Kunzru (4) K.M. Panikkar

19537 Ao 08 (HS0 Tl DOOHE0 SHAS O (DR.ebd)
DHW0N0A. (808 TB, ENNSE Hoodsn B FOSH ?

1) 2908 @) S8 a8 ed

(3) S0, Sol (4) 8.a00. He3556

]

185. In 1971 election, the Telangana Praja’Samithi (T.P.S.) contested and won 11 out of 14 seats for

186.

Parliament. Under whose leadership T.P.5) was formed 7
(1) li}h Ranga Reddy (2) Madan Mohan

3 P.V.Narasimha Rao (4) Marri Chenna Reddy

1971 ¥ Boomd (Herdda (B2.00) 14 FIrosh 11 o fentnSaol.

3000 30 e 808" JoTyanod 7

(1) .2 Sordd () DOS Irrd
(3) DI ISETT @) O IT0Q

In 1950 Hyderabad State Cabinet appointed a committee 1o make suggestions for reorganization
of administrative and economic system in the state. Name the Chairman of that committee

{1y Digambar Rao Bindu (2) J.P.L.Gwinn
(3) V.P. Menon (4) A.D.Gorwala

1950 &' ST oD THIS 200N, 88 Sored’ HIBSPESHT HoFerd
Cot0 )% 2.4 X204 DHNoD0S. & F208 e SiHTIG 7

(1) Ao o Doh (2) B2H2E.050
() DHWSS 4 2.6 o

SSI-GS1




187.

188,

150.

191.

Who among the following introduced the Andhra Pradesh Re-orgamisation Bill — 2013 in the
Parliament ? :

(1}  Sushil Kumar Shinde (2) A.K. Anthony

(3) Manmohan Singh (4) P.Chidambaram

811208 0S5 FE0tnS’ “eo|SIHTF S 553DE B DeY) - 20137 XK (DIFDESBIS 2
(1) 2 53508 hod (2) A3 eso8d

(3) Soara mof 4) 2. DSowdo

Which of the following statements was not true regarding the Andhra Pradesh Re-organisation
Act—20147

(I) Amaravathi as capital for Andhra Pradesh.

(2) AP. and Telangana to have powers to change boundaries of districts.

(3) To have a common Governor for both the States.

(4) Andhra Pradesh to have districts mentioned in Section — 3.

308 HIBSImoS' DO BoHHTT HIG5SIHEe 3o 42014, 3B HoROOOD
DG S 7

(1) GoOBNDTTH T3S T2AIT Aot

(2) GOoGDTT HOCL) BOOMRE B JOIEPeN IPEHEIErVE WOSE0 o),
(3) DBodb oafoss 2.8 M1 drodhod,

(4) 35 o0ib0 &' BODIEY wo(BHES Akl doths,

Who among the following led the Mulki Agitation)in 1952-53 with the slogan “Idly Sambar Go
Back”™ 7

(1) Intellectuals (2) Lawyers “3) Peasants {(4) Students

1952-53 &' ‘ad owrd K ol @F Vrdod 2803 J0d) adisrd), 1808 HELSY
T0S* 5% SADoerd ?

(H Dode (2) Feharthen (3) Beéven (4) doppen

The then Chief Ministef N.T. Rama Rao appointed the three member committee with Jayabharata
Reddy as the convener fofeport on which of the following aspects in Telangana ?

(1)  The censusof government employees (2) Utilisation of temple lands

(3) Imigatidnaldacilities (4) Industrial progress

)8 SuPiold IS5 oSronl, adbrdE BAY (B0 Sneds disdmr
QOHOW), BOOMErEH S00H0DS 2 80FoD Bdidhdsn Fabhary & ?

(1), 192he s asihe BEen (2) Toood Hrswve IVTio

(3) ABrHEO AEorgen 4) oFDS ed3yd

‘Who among the following depicted the Telangana way of life through his paintings

(1) B.V.R. Chari (2) Midde Ramulu

(3) Kanta Rao (4) K. Lakshman Goud

& 800 0S5’ J3D Boorrn #SS DFTTR) 8 VSBparod 1HaDoDod Ird ?
(1) DDeb oo 2) DT odwen

(3) somroy (4) B 05578

SSI-GS1 59
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193,

194,

195.

After Ramachandra Reddy of Pochampalli donated land for Bhoodan Movement, Vinoba Bhave
constituted a three member committee for judicious distribution-of lands among the poor. Who
among the following was a member in that committee ?

(1) S.Yaganti (2) D. Lakshman Rao

(3) V. Veerabhadram (4) Ummethala Kesava Rao

Hi50dDS’ ool B Brord @S iArns Zr addor a0 Sorid, DEBODS
Frsned Fdudor Do Hodards aS%r ord o8 08 Achoordh. & 180d
TBS" & S0 HTS% 7

(1) 2R diriiodd (2) & of100%

(3) 2. 8PS0 (4) adeo TidoH

During whose administration in Hyderabad, Telugu and English languages replaged Urdu which
hitherto was the State language ?

(1) K.M. Munshi (2) Burgula Ramaksrishina Rao

(3) LN.Choudhary (4) M.K. Vellodi

DSB8 HBFS 1808 ETLrDS 08555 wdsiarar SN 4T a&en
Benth, R0 arden K34 Dadoron 7 .

(1) 3. 20 Swy 2) P brolyg U

(3) BN TEO (4), 0B Jrd

Who among the following was the VicesPresident of Telangana Praja Samiti during 1969
Telangana Movement 7

(1) Madan Mohan (2} Sumitra Devi

{(3) Konda Laxman Bapuji (4) Sada Laxmi

1969 Boome &S H0BE Beromrs [Har HS SISsLoen HS 7

(1) 83 Irdrs (2) AdolE 3

(3) Soor ofin iy 4) Soreoly

Which among the:following was not part of the Gentlemen’s Agreement ?

(1) Telangana students had 3 ; 1 share in educational institutions.

(2) _ Surplus revenue from Telangana to be speat for its own development,

(3),. Continued Mulki rules in government jobs.

(4} Sale of landed property was controlled by Telangana Regional Council.

1508 &3S’ P DO 0508’ 2rio SO D6 ?

(1) g HoRS, Bvors dTHoR 3 : 1 A28 Pare Seranod.

(2) Seoors [odod ST) eOS 8rdira) ¢ |ros ©308 dAE@rioTd.
(3)  1DHZhés adirod Sud) daodde TIN0D.

@) Boomrs (oedd ok edsods SiSsrdd drdnes ehgo.
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198.

When the Telangana Political Joint Action Committee with all pro-Telangana Parties was formed
with Prof. Kodanda Ram as the convener, which of the following parties did not join in it ?

(1) CPL(M) (2) TRS.

{3) Congress (4). TDP.

Boornd P& fo ozlch Fiod 1 FH08TD LSBT 6IAS Boors
orzdoh 2ronodS aird S $v4S’ s oslch P 06 ?

(1) RHD. (D0) (2) BabaD

(3) solim 4 .45

On December 28, 2012 UP.A. government convened an All Party Meeting in Delhi on
Telangana. Match the following parties with their leaders.

List — I (Parties) List — 1I (Leaders)
a. Congress i. K. Narayana & Gunda Mahesh
b. Y.CP. ii.  Raghavulu & Julakanti Ranga Reddy
g CRL iii. Mpysora Reddy & K K. Mahendra Reddy
d. CPM. iv. Suresh Reddy & Gade Venkata Reddy

2012 &R0 28 &5 @5 oin.D.0) D20 10 BOomrR JAdbomr 2.8 eDODE DITFITA
Do TRoA. 1508 BODS ren, 88 TohHOS 2SHEDSD.

Do -1 (>§en) e Do — [LFEH Soen)
a.  Sofd . B aoobe & hoar HBh
b. R ii. Orauiged & aofodl Sordg
c. DD i, A 0@ & 3.3. Jarold B
d. Pa.oho. i "l 8@ & 3 Joseode

The correct answer is : YO AEFTG0 :
a b ¢ d
() dii v i ool

@ i i «v (Vi
Gy i v Y i
@ v 5T i

Whahamong the following carved the ‘Gun Park Martyrs Stupam’ at Hyderabad in memory of
those killed during 1969 agitation ?

¢1) B.Venkataramana Chari (2) Ekka Yadagiri Rao

(3) Pushpa Narayana (4) Ambati Surendra Raju

1969 &S50 @Bd 0 Fosdo Irdoard &R K8 B sE Sy’
SrroSHofdd 30 255 7

() D Joke S = (2) 5y ArSABTS

(3) X)) FUrdde (4) e020¢3 0o\ ore
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199. 'Which one of the following statements is true with regard to the All Party Accord that arrived in
January, 1969 at the initiatives of the Chief Minister Brahmananda Reddy on Mulki rules 7

(1) Those who obtained jobs by using fake Mulki certificates were to be transferred.

(2) G.O.No. 36 was issued to retain all Non-Mulki as Andhra employees.

(3) Persons employed in Telangana against the Mulki rules were to be regularized.

(4) Mulki rules were to be applied even to autonomous organisations besides government
departments.

SPJDOLS T80 BY TESE 1969 285566 60 wdo HE SoETroS SO,

Dodde HBoD 808 TS HBS 1DSSS0 & ?

(1) S35 Swd; Higsvos alsren odd FE0L58 28 Faird

(2) G.O. No. 36 e TR, Bvored’ swd) M J760400 ol el heurr

TShod Jasrd. .
(3) Boormd S0d; JwoddoR  I@B8S5or AoHDEIVAES TSRO
Eh2dE8em Jaird.
@ S DuodSodn 1HDss rrol Srsih 0 28d Jodod Erd

@ jonod Taird.

200. Assertion (A) : There was great jubiliation of the People of Telangana over the Supreme Court
Judgement on the status of Hyderabad city.

Reason (R) : In October 2009 the SupremeCourt ruled that Hyderabad should be treated as “Free
Zone’.

The correct answer is :

(1}  (A) is true but (R) is falses

(2) (A) is false but (R)ds tfue.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R)@are true but (R) is not the correct explanation of (A).

DAFES (A) : SO 58 Fop ho FY ad) Ieusds Jobd Boorres

|Saen D) adofe ) rod HESRomd.

S0 (R) : 2009 ofa88 Jbo £ doerd “d 57 ™ Jonodd 8dh)
AW O,

DBTS HIFTSO :

(1) (A) D2dw, SR (R) Say).

(2) (A)&3)sR, (R) dazaw.

(3) (A) DB (R) Bodr dz2dw, SHddin (R) (A) 50 ST dS8e.

4) (A) 2000 (R) DO&r caa, 5 (R) 30 (A) 0G0 Qa0 5.
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